Hydraulic Link Clamp

Model LKA Model T MA-2
Model LKC Model TMA'1
Model LKW

Model LJ/LM

Compact Cylinder with Built-in Link Mechanism

607

Action Description

Link design is not required.
” ﬁ

Released State Locked State

Application Examples

Machining Press Fitting

=
“n

Transfer - Gantry Loader Interference Prevention



Link Clamp ‘{l KOSMEK

Digest Harmony in Innovation

Link Clamp l;igr;il;-sPower
Quick Change Lever Option A N

Hydraulic Series

model LKA-A / LKC-A / LKW-A / LJ-A/ LM-A -

Quickest Lever Setup Time Possible by One Bolt Exchange
Valve /Coupler

Hydraulic Unit

Manual Operation
Accessories

® Quick Change Lever Option A is Suitable for Frequent Lever Change

Cautions / Others
When changing a standard lever, a special tool is required to install/remove a snap ring

which fixes the lever pin and rod pin. Installation/Removal of the snap ring takes time Hole Clamp

and there is a possibility of deformation/loss of the snap ring. SFA
Option A, however, does not require snap rings or special tools, but only one wrench and SFC

bolt which is suitable especially for frequent lever change. Swing Clamp
LHA
LHC
LHS
LHW
,’% LG/LT
o]/ TLA-2
TLB-2
Lever Pin TLA-1

Link Clamp

® Lever Removal Procedure

Loosen the bolt on the cover top and
remove the cover.
(The bolt does not fall from the cover.)

Pull out the rod pin and the lever pin,

LJ/LM
TMA-1

and remove the cover.

“Rod Pin*

Work Support
% Rod pin has thicker flange. LD
LC
TNC

® Lever Installation Procedure T

Air Sensing
Lift Cylinder

LLW

Set another lever and insert the rod pin and

the lever pin. (The pins can also be inserted

Linear Cylinder /
Compact Cylinder

LL
LLR
LLU

from the other side.)

Set the cover and tighten the bolt.
Lever installation is now completed.

Block Cylinder
DBA/DBC

Centering Vise

Air Sensing Link Clamp FVA

FVD

Model LKW L

Control Valve

Clamp-unclamp confirmation with built-in air catch sensor BZL
s BZT
for smaller footprint fixtures. Cerze
*1 BZS
Clamp Confirmation Valve Pallet Clamp
*1 VS/VT
Expansion
*2 Locating Pin
NG - VFL/VFM
36.5 A, 28 % *2 VFJ/VFK
o ——1 Unclamp Confirmation Valve
73 ! ] Pull Stud Clamp
36,5mm 8-5mm 45mm Unclamp Confirmation Model is E(F;
Compact More Compact
For Action Customized
i i Spring Cylind
Confirmation < Comparison Model > < Air Sensing Model > < Air Sensing Model > %
LKA0480-C[IM LKW0481-CLIE LKW0481-C[1J E—
Ability to confirm Ability to confirm Ability to confirm
clamp and unclamp action clamp and unclamp action unclamp action

608



609

Link Clamp

Low Pressure Model

MAX. 7MPa

Model LKA - P.611

Model LKC — P.637

Model LKW — P.651

Classification

Operating Pressure Range

Double Action

Double Action
Compact

Double Action
Built-in Sensing Valve

Standard Model

External Dimensions — P .62 3

External Dimensions — P .645

Dou.ble End Rod External Dimensions — P.625 — —
Option for Dog Able to
< Install Dog
S
= . .
g I,C\I;rfﬁ:glsdlnogpﬂon External Dimensions — P . 627 - —
N
c
S
g A.Ir .Sensmg. External Dimensions — P .629 — —
..3 Plpmg optlon Able to Install Air Sensor
<
Built-in Sensing Valve Model - - External Dimensions — P.665
QU|Ck Cha.nge External Dimensions — P .63 1 External Dimensions — P .647 External Dimensions — P .67 1
Lever Option A
S High Strenath High Strength Allowable offset increases. Allowable offset increases. Allowable offset increases.
'g_ Lir?k Plate Og tion Link Plate (External dimension is the (External dimension is the (External dimension is the
o P same as standard model.) same as standard model.) same as standard model.)
Special Pin
. . dard
Flange Pin with % * * *
C-type Circlip Flange Pin
Lever LZK-L LZK-L LZK-L
E LZK-W — P.636| LZK-W — P.650| LZK-W — P.674
S
a Manifold Block LZY-MD =
o — P.1335
< Speed Control Valve BZL BZX. JZG. BZS
Plug ' ’ ' — P.947
% Please contact us for detail dimension at % part.
High Pressure Model
MAX. 35MPa
model TMA-2 5 691| modet TMA-T — 5 703|  modet TMV-2

Classification Double Action Sm.gle Action . Dou'ble AcFlon.
(Spring Release) |with Action Confirmation

Operating Pressure Range 3.5 ~35MPa 3.5~35MPa 3.5 ~35MPa

LZ-LJ3 LzZ-LJ3
Lever

LZ-LJ2 - P.702| LZ-L)2 - P.714

~§ Manifold Block TMZ-2MB L prsa TMZ-1MB L braa Further information

§ Speed Control Valve on the website.

o BZT, JZG

< | Plug — P.947

G-Thread Fitting

G-Thread Fitting (Made by lhara Science)

— P.1351




Link Clamp (Y w@SMEK

Digest Harmony in Innovation

High-Power
Series
Pneumatic Series
Low Pressure Model -
Hydraulic Series
MAX. 7MPa | |
Valve/C
vosel LI/LM > pg75|  mosel LKK vodet LKV Valve Couplr
Classification Single Action Double Action Double Action ranual Operation
(Spring Release) | 360° Rotatable Lever 1-Port Sensing coesones
Operating Pressure Range 2.5~7MPa 0.5~7MPa 1~7MPa Cautions / Others
Standard Model External Dimensions — P.683
L Hole Clamp
Double End Rod 3 2?27
Option for Dog Able to
c < Install Dog Swing Clamp
1] LHA
] Air Sensing _ LHC
E Manifold Option LHS
= ‘o LHW
8 LG/LT
c Air Sensing _ TLA-2
g Plplng Option Able to Install Air Sensor TLB-2
v} TLA-1
< _TEAT
It-in Sensi - I
Built-in Sensing Valve Model Further information Further information
; - [ Lkw
on the website. on the website.
Quick Change -
levar Option A External Dimensions — P .685
Work Support
c . -~
2 High Strength High Surength B t?
OO- Link Plate Option TNC
Special Pin TC
Flange Pin with ?‘.%?F"@ Air Sensing
C-type CIrCle . - Lift Cylinder
yp Flange Plno LW
LZ-LJ1, LZ-LJ2 Linear Cylinder /
§ Lever LZK-W - P.688 CompaLcE Cylinder
e . LLR
a Manifold Block LZ-MS —_—
] — P.1336 LLU
< Speed Control Valve BZL, BZX, EE
Plug JZG, BZS — P.947 s
DT

% Please contact us for detail dimension at % part.
Block Cylinder
DBA/DBC

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG
BZS

Pallet Clamp
VS/VT

Expansion
Locating Pin

VFL/VEM
VFJ/VFK

High-Power Link Clamp Hydraulic Double Action

Model LKE

Pull Stud Clamp

2 sizes smaller with equivalent clamping force. Mechanical lock and FP
. ) . FQ
hydraulic pressure allow for strong clamping and holding force.
Customized
Refer to P. 53 for further information. Spring Cylinder
DWA/DWB

610



Double-Acting Link Clamp model LKA

Hydraulic Double-Acting
Link Clamp
ModeILKA

Low Pressure (0.5~7MPa)
High Power « Compact Clamp

@ Index

Hydraulic Link Clamp Digest P.607
Cross Section P.612
Model No. Indication P.613
Specifications P.614

Performance Curve

+ Clamping Force Curve P.615

+ Allowable Offset Graph P.619

External Dimensions

+ Standard Model (LKA) P.623
+ Double End Rod Option for Dog (LKA-D) P.625
+ Air Sensing Manifold Option (LKA-M) P.627
+ Air Sensing Piping Option (LKA-N) P.629
+ Quick Change Lever Option A (LKA-A) P.631
Air Sensing Option P.633
Lever Design Dimensions P.635
Accessories
+ Material Link Lever for LKA P.636
+ Speed Control Valve+Plug P.947
+ Manifold Block (Common Items of Other Models) P.1335
Cautions
+ Notes for Hydraulic Link Clamps P.715
+ Cautions (Common) P.1355

+ Installation Notes ~ + Hydraulic Fluid List + Notes on Hydraulic Cylinder Speed Control Circuit
* Notes on Handling *+ Maintenance/Inspection * Warranty

611



Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design ) Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.715 ‘ ‘l(,,a,.mgnﬂ,ﬁ!(

. High-P
@ Cross Section e

Three lever directions available o
Pneumatic Series

(-—— Lever
> .
) b

Piston

Valve /Coupler
J Hydraulic Unit

Manual Operation

La rger Range of Accessories

Allowable Offset
Link Plate Cautions / Others

Excellent Coolant Resistance

BZL Speed Control Valve

(Sold Separately) Hole Clamp

. SFA
High Strength oc

Cylinder

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp

LKC
LKW
LJ/LM
TMA-2

® Compact EQD TTMAT

The dimension below flange is shortened by 40 percent to enable thinner

Compact Design

Work Support

and lighter fixtures. r LD
. _ . . Compact, L
The compact body allows the internal fitting without interference and

easy to fit, and TNC
no interference

makes fixture design more engineer friendly. O=

Air Sensing
Lift Cylinder

LLW
i i i Linear Cylinder /
® High Strength Supporting Point e e
L
LLR
by including a high strength supporting point within the body cylinder. T
DP
DR
DS
DT

The compact body is able to retain similar clamping and holding forces

Its strength is the best in the industry, by way of casting.

® Leverin Three Directions Available Slock Cylinder

Lever positioning is available in three directions; L : Left, C : Center, R : Right. _DBA/DBC

As seen from the port side. Centering Vise

FVA
3 FVD
® Excellent Coolant Resistance e
Our exclusive dust seal is designed to protect against high pressure coolant. Control Valve
. s . . . . BZL
It also has high durability against chlorine-based coolant by using a sealing et
material with excellent chemical resistance. BZX/JZG
BZS
Pallet Clamp
VS/VT
® A Larger Range of Allowable Offset o
xpaQS|on_
High strength link plate option is available for larger tolerance. Larger rocating Fin
Range of _VEL/VEM
Allowable _VEI/VEK
Offset
Pull Stud Clamp
® Able to Attach Speed Control Valve Directly ?;7
When fitting the gasket (Piping Option -C), it is able to attach the speed control valve Customized
with air venting function. (Speed control valve is sold separately.) Spring Cylinder
DWA/DWB

612



Double-Acting Link Clamp

@ Model No. Indication

LKA 048 -
|

0 BH EBEEHBH 4

model LKA

Ell Body Size
036 : ¢D=36mm 065 : ¢ D=65mm i~
040 : ¢ D=40mm 075: ¢D=75mm
048 : ¢ D=48mm 090 : ¢ D=90mm 4D
055: ¢D=55mm 105: ¢#D=105mm
% Outer diameter (¢ D) of the cylinder.
Design No.
0 : Revision Number
Piping Method
C : Gasket Option (With G Thread Plug) S
S : Piping Option (Rc Thread Port)
% Speed control valve (BZL) is sold separately.
Refer to P.947. Gasket Option Piping Option
With G Thread Plug (able to Rc Thread Port
attach Speed Control Valve) No Gasket Port

Order the valve separately
Recommended : BZL-B

] Lever Direction

L : Left L
C : Center
R : Right

% The images show the lever direction
when the piping port is placed in front of you.

Action Confirmation Method

Blank : None (Standard) D
D : Double End Rod Option for Dog

M . Air Sensing Manifold Option

NI . Air Sensing Piping Option

(N : Standard Air Sensor Port Phase
NC/NL/NR : Refer to external dimensions for air sensor port phase.)

Air sensor port phase is
selectable from 4 directions.

(Refer to External Dimensions.)

A option
Blank :None (Standard) A
A - Quick Change Lever Option A
H . High Strength Link Plate Option (Increase in Allowable Offset)
K : Flange Pin with C Type Circlip

% Option H is only available in case of [fl] Body Size (036/040/048/055/065/075).

613 % Please let us know if you have a question about a combination of options.



Accessories

Link Clamp Index Model No. Indication | Performance |  External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘l(,,a,.mgnm,ﬁ!(

epe . High-Power
@ Specifications Series
Model No. LKA0360 LKA0400 LKA0480 LKA0550 Pneumatic Series
Cylinder Area for Locking cm? 452 5.31 7.07 9.62 -
- Hydraulic Series
No Action Clamping Force F 590 %P [ 164 XP (1176 X P [ 1818%P
Confirmation (Calculation Formula) 31 kN L-14.5 L-16 -18.5 L-21 Valve / Coupler
Option Blank Hydraulic Unit
Cylinder Capacity | Lock 8.4 109 16.6 25.0
M | Operation
cm? | Release 6.9 8.6 13.0 19.8 Accessories
Cylinder Area for Locking  c¢m? 4.02 4.18 5.53 8.08 Cautions / Others
With Action Clamping Force 524 xP - 6.02 X P 920 xP _1527xP
:)rgifmat;:nm (Calculation Formula) #1 L-14.5 L-16 L-18.5 L-21 Hole Clamp
5 i
S Gylinder Capacity | Lock 74 86 13.0 210 SFA
SFC
cm? | Release 6.9 8.6 13.0 19.8
Swing Clamp
Cylinder Inner Diameter *2 mm 24 26 30 35 LHA
Rod Diameter %2 GG 10 12 14 16 LHC
LHS
Full Stroke mm 18.5 20.5 23.5 26 LHW
Lock Stroke 16 175 205 23 LG/LT
mm TLA-2
Extra Stroke mm 2.5 3 3 3 TLB-2
Max. Operating Pressure MPa 7.0 A
Min. Operating Pressure’3 MPa 0.5
Withstanding Pressure MPa 10.5 LKC
) LKW
Operating Temperature C 0~70 T
Option Blank 0.5 0.6 1.0 1.3 TMA-2
TMA-1
Weight ¥4 kg Option D 0.5 0.7 1.0 1.3 —_—
" Work Support
Option M /N 0.6 0.8 13 1.6 BT
LC
TNC
Model No. LKA0650 LKA0750 LKA0900 LKA1050 T«
Cylinder Area for Locking cm? 15.9 23.8 36.3 50.3 Air Sensing
Clamping Force 35.06% P 64.14% P 1766X P 199.05% P Lift Cylinder
No Action F= . — . F= . F= . LLW
Confirmation (Calculation Formula) 1 KN L-24.5 L-30 L-36 L-44
3 Option Blank LinearCyIind‘er/
B Option Blank 1" e Capacity | Lock 469 832 1489 246.3 Compact Cylinder
LL
cm? | Release 37.7 69.8 123.7 197.8 IR
Cylinder Area for Locking  cm? 14.4 21.2 33.8 477 LLY
DP
With Action Clamping Force g 3167XP _ 57.27X P 10942 P 18897 P DR
Confirmation (Calculation Formula) #1 T 1245 130 T L36 T 144 DS
[ Option D/M/N o1
B Option DIWN I~ capacity | Lock 04 74.2 1385 2338
Block Cylinder
cm? | Release 377 69.8 1237 197.8 T DBADBC
i i %2
Cylinder Inner Diameter * mm 45 55 68 80 Centering Vise
Rod Diameter %2 mm 20 22 28 355 FVA
FVD
Full Stroke mm 29.5 35 4 49 e
Lock Stroke mm 26.5 32 38 46 Control Valve
Extra Stroke mm 3 3 3 3 BZL
- BZT
Max. Operating Pressure MPa 7.0 BIXZG
Min. Operating Pressure’3 MPa 0.5 BZS
Withstanding Pressure MPa 10.5 Pallet Clamp
VS/VT
Operating Temperature °C 0~70
Expansion
Option Blank 2.2 3.3 5.8 8.6 Locating Pin
bt - VFL/VEM
Weight kg Option D 23 34 59 8.7 VFJ/VFK
Option M /N 26 39 6.5 9.9
Pull Stud Clamp
Notes: 3 1. F:Clamping Force (kN), P : Supply Hydraulic Pressure (MPa), L : Distance between the piston center and the clamping point (mm). Fp
% 2. Clamping force cannot be calculated from the cylinder inner diameter and rod diameter. FQ
Please refer to the clamping force curve. Customized
% 3. Minimum pressure to operate the clamp without load. Spring Cylinder
¥ 4. It shows the weight of single clamp without the link lever. _DWA/DWE

614



615

Double-Acting

Link Clamp

@ Clamping Force Curve (Action Confirmation Method- - -Blank : Standard Model)

P: Supply
Hydraulic Pressure (MPa) =)

L:Lever Length (mm)

F: Clamping Force (kN)

(Ex.)

Applicable Model Blank
C - A
LKA 0-2¢c -
- IS R H
K
Body Size

model LKA

Action Confirmation Method
. Blank selected

In case of LKA0480 : When supply hydraulic pressure P is 5.0MPa
and lever length L is 42mm, clamping force becomes about 2.6kN.

LKA0360--[] Hflamping Force Calculation Formula* 1 (kN) F = (5.90 XP) / (L— 14.5) ‘

Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 35 ‘

Pressure &N LeverLengthL (mm) Length (L) Cylinder Force
(MPa) 1=225[1=275[1=33.5] =40 | L=50 [ L=60 | L=80 [L=100| (mm) 3

7 32  |mmmms 22 | 17 | 12| 10 | 07 | 05 | 335 Non-Usable Renge (H)
6.5 30 (e 21 | 16 | 11| 09| 06 | 05 31 = 25

6 28 e 19 14 10| 08 | 06 | 05 29 =3

5.5 2.5 s 25 1.8 13 1.0 0.8 0.5 0.4 27 v o L=33.5(s=13.5)
5 2.3 s 23 1.6 1.2 0.9 0.7 0.5 0.4 25 S 2 %

45 2.1 B 21 | 14 11| 08 06| 05| 04 24 =

4 1.9 30 19 13 [ 10 07| 06| 04 | 03 22 £15 ,

35 1.6 26 | 16 | 11 [ 09| 06| 05| 04| 03| 21 g e

3 4 23 14 10| 07 | 05| 04 | 03| 03| 20 &, L=50(s=30)
25 12 1.9 12 0.8 0.6 0.5 0.4 0.3 0.2 20 / .

2 1.0 15[ 10[ 07 05] 04 03] 02/ 02 20 / e L1

15 0.7 12 0.7 0.5 0.4 0.3 0.2 0.2 0.2 20 0.5 / /’// L=100(s=80)

1 0.5 0.8 0.5 0.4 0.3 0.2 0.2 0.1 0.1 20 7 T ///

0.5 0.3 0.4 0.3 0.2 0.2 0.1 0.1 0.1 0.1 20 0 4//

Max. Operating Pressure (MPa) | 4.4 5.8 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7
LKA0400-01-0] "CIampingForceCaIcuIation Fomula*1(kN) F=(7.64 XP) / (L=16) ‘ Supply Hydraulic Pressure (MPa)

Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range(M)| Min. Lever 4 ‘ ‘ linder F
Pressure (kN) Lever Length L (mm) Length (L) 15 | Cylinder Force
(MPa) L=25 [ =30 [L=365] L=40 | L=50 | L=60 | L=80 [L=100| (mm) - L=25(s=25)

7 38 23 | 16 | 13| 09 | 07 | 365 / Non-Usable Range (M)
6.5 35 2.1 1.5 1.2 0.8 0.6 34 — 3 %

6 32 20 14 [ 10 08 [ 06 32 Z ¢ L=36.5(s=14)
55 30 181 13 10| 07 | 06 29 g 25

5 27 . | 16 [ 1.2 [ 09 | 06 | 05 27 5 /

4.5 24 39 2.5 1.8 1.5 1.1 0.8 0.6 0.5 26 “‘:'» 2 v g

4 22 34 2.2 1.6 13 0.9 0.7 0.5 0.4 24 g / /’

35 1.9 30 | 20 | 14 [ 12 [ 08 | 07 | 05 | 04 | 23 g 15 A - L=50(s=27.5)
3 16 26 | 1.7 [ 12 10 07 [ 06 | 04 | 03 23 & S T

25 14 22 14 1.0 0.8 0.6 0.5 0.3 0.3 23 1 / A

2 1 17 | 11 08| 07 | 05 04| 03 02| 23 / A

15 0.8 1309 06 05] 04 03] 02/ 02 23 05 | /// — ___— L=100(s=77.5)
1 0.6 09 | 06 | 04 ] 04 [ 03] 02 021 01 23 o _—

05 03 05 03] 02 02 02 01 01 01| 23 0 S —

Max. Operating Pressure (MPa)| 4.5 | 58 | 7.0 | 70 | 70 | 70 | 70 | 7.0 0 1 2 3 4 5 6 7
LKA0480--[] "CIampingForceCaIcuIation Fomula*1(kN) F=(11.76 XP) / (L—18.5) ‘ Supply Hydraulic Pressure (MPa)

Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range(M)| Min. Lever
Pressure (kN) Lever Length L (mm) Length (L) 5 ‘ Cylinder Force
(M7Pa) 0 L=30 | L=35 | L=42 L;570 L;%O LTEE‘O L:11?0 L:01920 (T,;n) 1=30(s=45) Non-Usable Range (M)

6.5 46 25 | 19| 13| 10 | 08 39 = 4 <

6 43 23 [ 18 [ 12 09 [ 07 | 36 =3 —4)(s=

5.5 39 2.1 1.6 1.1 0.8 0.7 34 ] / s L=42(=16.)
5 3.6 19 15[ 10 08| 06 32 5 3 L

45 32 : . 1.7 [ 13 ] 09 07 ] 06 30 = L /

4 29 41 1 29 | 20 [ 15[ 12 ] 08 06 | 05 28 £ yd

35 25 36 | 25| 18| 14 | 10| 07 | 06 | 05| 26 g > P4 L=60(s=34.5)
3 22 3.1 2.2 1.6 1.2 0.9 0.6 0.5 0.4 26 8 e /

25 18 26 | 18 13 [ 10 08 [ 05 04 | 03 26 yd //

2 15 21 1 15 11 [ 08 ] 06| 04 03] 03 26 1 &

1.5 1.1 1.6 1.1 0.8 0.6 0.5 0.3 0.3 0.2 26 - |_— L=120(s=94.5)
1 0.8 10 08| 06| 04| 03| 02| 02| 02 26 /éﬁ ]

0.5 0.4 06 | 04 03] 02]02] 017 01] 01 26 0 L =—

Max. Operating Pressure (MPa)| 4.8 59 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7
LKA0550-010- || GompingforeGledsinfomds™ () F = (18.18 XP) / (L—21) | Supply Hydraulic Pressure (MPe)

Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 7 Cylinder Force
Pressure (kN) Lever Length L (mm) Length (L)

(MPa) =35 | L=40 | L=50 | L=60 | L=70 | L=80 |L=100|L=120| (mm) 6 Non-Usable Ranae (M
7 68  [mmmmn 44 | 33 | 26 | 22 | 17 | 13| 50 on-Usable Range ()
6.5 6.3 I 41 | 31 | 25 [ 21 [ 15[ 12 46 - 5
6 58 (I 38 28 | 23 0 19 | 14 | 12| 43 Z -

55 5.3 B 53 [ 35 [ 26 [ 21| 17 [ 13 [ 11 39 ] L=50(s=20)
5 49 P 48 [ 32 [ 241 19| 16 [ 12 | 10 37 5 4 7
45 44 59 | 44 | 29 | 21 | 17| 14 [ 11 ] 09 34 =
4 39 52 139 26 19 15[ 13 [ 10 08 32 £ 3 i
3.5 34 46 | 34 | 22 [ 17 [ 13 [ 1109 07 30 5 pd
3 29 39 29 19 1.4 1.2 1.0 0.7 0.6 30 D’“ 2 L=70(s=40)
25 2.5 33 24 1.6 1.2 1.0 0.8 0.6 0.5 30 L _—
2 20 26 | 20 13 [ 10 08| 07 | 05| 04 30 / / LT L=120(s=90)
15 15 20 [ 15[ 10 07 [ 06 [ 05 04 ] 03 30 1 2 A — |
/’ /
1 10 13 [ 10| 07 [ 05 04 04| 03 02| 30 ////4/
0.5 0.5 0.7 0.5 0.4 0.3 0.2 0.2 0.2 0.1 30 0 =
Max. Operating Pressure (MPa)| 4.8 57 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7

Supply Hydraulic Pressure (MPa)



Accessories

Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘K.SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series
Notes :

1. Tables and graphs show the relationship between the clamping force (kN) and supply hydraulic pressure (MPa). Valve /C_°“P'_e"

2. Cylinder force (when L=0) cannot be calculated from the calculation formula of clamping force. L e Ui

3. Clamping force in the non-usable range may cause damage and fluid leakage. el O i
%1. F : Clamping Force (kN), P : Supply Hydraulic Pressure (MPa), L : Lever Length (mm). Accessories

Cautions / Others
LKA0650-10-[] || Campingore Couatinor *1(kN) F = (35.06 XP) / (L— 24.5) | HoleClamp
SFA
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 12 find SFC
Pressure kn)y ] LeverLengthL (mMmm) Length (L) Cylinder Force
(MPa) =40 | L=50 [L=56,5| L=80 [L=100[L=1201=140L=160| (mm) )
7 12 (e 77 | 45 | 33 | 26 | 22 | 19 | 565 10 Non-Uszble Renge (W)~ Swing Clamp
6.5 104 (e 72 | 42 [ 31| 24| 20 17 52 _ LHA
6 9.6 I 83 | 66 | 38 | 28 | 23| 19 | 16 48 Z 38 L=56.5(5=21.5) LHC
55 88 MWW 76 | 61| 35 26 | 21| 17| 15| 4 o 0= LHS
5 8.0 | 69 | 55| 32| 24| 19| 16 | 13 42 5 / LAW
4.5 72 102 | 62 | 50 [ 29 | 21 | 17 | 14 | 12 39 5 6 Lo/t
4 6.4 91 | 55| 44 | 26 | 19 | 15| 13 | 11 37 £ / /
35 5.6 80 | 49 [ 39 23 [ 17 [ 13 [ 11 ] 10 35 e y. TLA-2
3 48 68 | 42 | 33 19 | 14 [ 12| 10| 08 35 & 4 ,, TLB-2
25 40 57 | 35 28 16| 12 [ 10| 08 | 07 35 / p / L=100(s=65) TLAN
2 32 46 | 28 | 22 13 10| 08 | 07 | 06 35 9 yoy L 1606125) —
15 24 34 | 21 [ 17 10 | 07 | 06 | 05 | 04 | 35 =160(s=
1 1.6 23 [ 14 [ 11 07 05[] 04 | 04 | 03 35 ééﬁ/// o BT
05 08 12 07 [ 06 | 04 | 03| 02 [ 02 02 35 o L=—
Max. Operating Pressure (MPa)| 4.8 6.3 7.0 7.0 7.0 7.0 7.0 7.0 0 ] 2 3 4 5 6 7
) LKW
LKA0750-0C-0 "ClampingForceCaIculationFormuIaW(kN) F=(64.14 XP) / (L—30) ‘ supply Hydraulic Pressure (MPa) LJ/LM
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 18 ‘ X (TMA-2
Pressure (kN) Lever Length L (mm) Length (L) 16 L=50(s27.5) Cylinder Force TMA-1
(MPa) =50 | L=60 [L=67.5| L=80 [L=100[L=120L=140]L=160| (mm) B Works .
7 16.7 P 120 | 90 | 65 | 50 | 41 | 35 67.5 14 . | Ork Suppor
65 155 (WSS 112 | 84 | 60 | 47 | 38 | 33 | 63 - V | Non-UsabeRange (H) LD
6 143 B 129 (103 | 77 | 55 | 43 | 35 | 30 58 Zn / e 1=67.5(s=25) LC
5.5 13.1 N 118 | 95 | 70 | 51 | 40 | 33 | 28 54 g / NG
5 1.9 161 | 107 | 86 | 65 | 46 | 36 | 30 | 25 51 5 10 / 2 / _
45 107 145 | 97 [77 [ 58 | 42 [ 33 27 [ 23| 48 = y s // e
4 9.6 129 | 86 | 69 | 52 | 37 | 29 | 24 | 20 45 £ 8 / 717 Air Sensing
35 84 113 | 75 | 60 | 45 | 33 | 25 | 21 | 18 43 E ¢ y 1=100(s=57.5) Lift Cylinder
3 72 97 | 65 | 52| 39 28| 22| 18] 15 43 s v e
25 6.0 81 [ 54| 431 33]23[ 18] 15[ 13| 43 4 / P — LLwW
2 48 65 | 43 | 35 26 19 15[ 12| 10 43 /7 1=160(s=117.5) ) )
15 36 49 | 33 | 26 | 20 | 14 [ 11 [ 09| 08 | 43 | £ — Linear Cylinder /
1 24 33| 22| 18| 13| 10 | 08 | 06 | 05 43 L ompact tylinder
0.5 12 1.7 | 11 [ 09 07 [ 05| 04 03] 03 43 oL=] LL
Max. Operating Pressure (MPa)] 5.0 | 63 | 7.0 | 70 | 70 | 70 | 70 | 7.0 0 1 2 3 4 5 6 7 LLR
) LLU
LKA0900-00-0 "ClampingForceCalcuIationFormulaw(kN) F=(117.66 XP) / (L—36) ‘ Supply Hydraulic Pressure (MPa) oP
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever ‘ ‘ ) Cylinder Force DR
Pressure (kN) Lever Length L (mm) Length (L) 24 [ [ Non-Usable Range () DS
(MPa) =60 | L=70 [L=77.5/L=100]L=120[1=1401=160L=200| (mm) 1=60(s=10) 9 o7
7 25.5 e 199 [129 | 99 | 80 | 67 | 51 | 775 20 L=775(5=275)
6.5 23.7 N 185 | 120 | 92 | 74 | 62 | 47 72 — ’ ’ Block Cylinder
6 218 I 208 (171 [ 110 | 85 | 68 | 57 | 44 67 =3 ~ osAc
5.5 20.0 I 191 (156 [ 102 | 78 | 63 | 53 | 40 63 g 16 (DBADRE
5 18.2 246 (174 (142 | 92 | 71 | 57 | 48 | 36 59 5 -
45 164 221 [156 [128 | 83 | 64 | 51 | 43 | 33 56 = 12 Centering Vise
4 14.6 197 1139 (114 | 74 | 57 | 46 | 38 | 29 53 £ FVA
35 12.8 172 1122 (100 | 65 | 50 | 40 | 34 | 26 50 g 1=120(s=70) FVD
3 109 148 | 104 | 86 | 56 | 43 | 34 | 29 | 22 50 E s FvC
25 9.1 123 | 87 | 70| 46 | 36 | 29 | 24 | 18 50
2 73 99 | 70 | 57 | 37 [ 29[ 23 19 15 50 1=200(s=150) Control Valve
15 5.5 74 | 52| 43 [ 28 [ 22 [ 17| 15| 11 50 4
1 37 50 | 35| 29 | 19 | 15| 12 | 10 | 08 | 50 BzL
05 1.9 25 [ 18 | 15| 10 | 08 | 06 | 05 | 04 50 0 BZT
Max. Operating Pressure (MPa)] 52 | 64 | 70 | 70 | 70 | 70 | 70 | 70 0 BZX/JZG
BZS
LKA1050-010-01 || GanpingForeGicatonfomda* 1(N) F = (199.05 XP) / (L~ 44) |
Pallet Clamp
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 36 [ .
Pressure (kN) Lever Length L (mm) Length (L) | Cylinder Force VSIVT
(MPa) =70 | L=80 | L=95 [L=110]L=130[L=150L=170L=230| (mm) 32 )/ Nor-Usable Range (M) _
7 352 (D 274 212 [163 (132 | 111 | 75 | 95 i
65 327 (W 254 (197 | 154 123 [ 103 | 70 | 89 _ 28 L=95(s=35) 9
6 302 | 235 (181 [ 139 | 113 | 95 | 65 83 Z , VFL/VEM
55 277 MWW 305 | 215 | 166 | 128 | 104 | 87 | 59 | 77 g 24 VFJ/VFK
5 25.2 I 277 (196 [ 150 [116 | 94 | 79 | 54 73 5 20 # -
45 227 345 (249 [176 [136 [ 105 [ 85 | 72 | 49 68 = / / Pull Stud Clamp
4 20.2 307 [222 [157 [ 121 [ 93 | 76 | 64 | 43 65 £ 16 / P L=130(s=70) T
35 176 268 [ 194 137 106 | 82 | 66 | 56 | 38 61 = / [
3 15.1 230 [166 (118 | 91 | 70 | 57 | 48 | 33 60 & 1 4 - FQ
25 126 192 |139 | 98 | 76 | 58 | 47 | 40 | 27 60 e A T Costomized
2 10.1 154 | 111 | 79 | 61 | 47 | 38 | 32 | 22 60 Z 1=230(s=170) : :
/ L
15 76 115 | 83 | 59 | 46 | 35 | 29 | 24 | 17 | 60 . - — Spring Gylinder
1 5.1 77 1 56| 40 31 [ 24 [ 19 16 | 1.1 60 7 — DWA/DWB
0.5 26 39 [ 28 20 16| 12 [ 10| 08 | 06 60 0 =
Max. Operating Pressure (MPa)| 4.8 59 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7

Supply Hydraulic Pressure (MPa) 616



617

Double-Acting Link Clamp

@© Clamping Force Curve
(Action Confirmation Method- - - D : Double End Rod Option for Dog / M : Air Sensing Manifold Option /N : Air Sensing Piping Option)

P: Supply

Hydraulic Pressure (MPa) =

L:Lever Length (mm)

F : Clamping Force
(Ex.)

Applicable Model

LKA T
(kN) B

model LKA

: D/M/N selected

| and lever length L is 42mm, clamping force becomes about 2.0kN.

LKA0360-DDD/M/N-D‘ ‘Oamping Force GlaustonFomu 1 (kN) F = (5.24 XP) / (L— 14.5) ‘

Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever
Pressure kN ] Leverlengthl (mm) Length (L)
(MPa) L=22.5/1=27.5/=33.5| L=40 | L=50 | L=60 | L=80 |L=100| (mm)
7 20 | 15 1.1 09 | 06 | 05 29
6.5 2.7 27 | 18| 14 | 10| 08 | 06 | 04 28
6 2.5 2.5 1.7 13 0.9 0.7 0.5 0.4 26
5.5 23 23 | 16 | 12 | 09 | 07 | 05 | 04 25
5 2.1 2.1 14 | 1.1 08 | 06 | 04 | 04 23
4.5 1.9 30, 19| 13| 10| 07 | 06 | 04 | 03 22
4 1.7 2.7 1.7 1.2 0.9 0.6 0.5 0.4 0.3 21
3.5 1.5 23 1.5/ 10| 08 | 06 | 05| 03 | 03 20
3 13 20 1 131 09| 07 | 05| 04| 03 | 02 20
25 1.1 1.7 | 11 07 | 06 | 04| 03 | 02 | 02 20
2 0.9 14 0.9 0.6 0.5 0.3 03 0.2 0.2 20
1.5 0.7 1.0 | 07 | 05| 04 | 03 | 02| 02 | 0.1 20
1 0.5 07 /05| 03] 03 02 02 0.1 0.1 20
0.5 03 04 | 03| 02| 02 | 0.1 0.1 0.1 0.1 20
Max. Operating Pressure (MPa) | 4.9 6.6 7.0 7.0 7.0 7.0 7.0 7.0
LKA0400-DDD/M/N-D‘ ‘C\amping Force Glculation Formua ™1 (kN). F = (6.02 XP) /' (L— 16) ‘
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever
Pressure (kN) Lever Length L (mm) Length (L)
(MPa) L=25 | L=30 |L=36.5| L=40 | L=50 | L=60 | L=80 |L=100| (mm)
7 3.0 3.1 2.2 1.8 13 1.0 0.7 0.6 29
6.5 2.8 28 | 20 | 17 | 12| 09 | 07 | 05 27
6 2.6 26 | 19 | 16 | 1.1 09 | 06 | 05 26
55 2.3 37 24 1.7 14 1.0 0.8 0.6 0.4 25
5 2.1 34 2.2 1.6 13 0.9 0.7 0.5 0.4 24
4.5 1.9 3.1 20 | 14| 12 | 08| 07 | 05 | 04 23
4 1.7 27 | 18| 13 | 11 08 | 06 | 04 | 03 23
35 15 24 1.6 1.1 0.9 0.7 0.5 0.4 0.3 23
3 13 2.1 13 1.0 0.8 0.6 0.5 0.3 0.3 23
2.5 1.1 1.7 | 11 08 | 07 | 05| 04 | 03 | 02 23
2 0.9 141 09| 07 06 | 04| 03| 02 | 02 23
15 0.7 1.1 0.7 0.5 0.4 0.3 03 0.2 0.2 23
1 0.5 0.7 0.5 0.4 0.3 0.2 0.2 0.1 0.1 23
0.5 03 04 | 03 | 02| 02 | 0.1 0.1 0.1 0.1 23
Max. Operating Pressure (MPa) | 5.8 7.0 7.0 7.0 7.0 7.0 7.0 7.0
LKA0480-00D/M/N-LJ| | GengngforeCtdainfomda*1(kN) F = (9.20 XP) / (L—18.5) |
Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range(M)| Min. Lever
Pressure (kN) Lever Length L (mm) Length (L)
(MPa) L=30 | L=35 | L=42 | L=50 | L=60 | L=80 |L=100|L=120| (mm)
7 39 40 | 28 | 21 1.6 | 1.1 08 | 07 33
6.5 3.6 3.7 2.6 19 1.5 1.0 0.8 0.6 31
6 34 4.8 34 24 1.8 1.4 0.9 0.7 0.6 30
5.5 3.1 44 | 31 22 | 1.7 | 13| 09| 07 | 05 29
5 2.8 40 | 28 | 20 | 15 1.2 | 08 | 06 | 05 27
45 2.5 3.6 2.6 1.8 14 1.0 0.7 0.6 0.5 26
4 2.3 32 2.3 1.6 1.2 0.9 0.6 0.5 0.4 26
35 2.0 28 | 20 | 14 | 1a 08 | 06 | 04 | 04 26
3 1.7 24 | 17 | 12| 09| 07 | 05| 04 | 03 26
25 14 20 14 1.0 0.8 0.6 0.4 0.3 0.3 26
2 1.2 1.6 1.2 0.8 0.6 0.5 0.3 0.3 0.2 26
1.5 0.9 12 | 09 | 06 | 05| 04 | 03 | 02 | 02 26
1 0.6 08 | 06 | 04| 03] 03| 02| 02| 01 26
0.5 0.3 0.4 0.3 0.2 0.2 0.2 0.1 0.1 0.1 26
Max. Operating Pressure (MPa) | 6.2 7.0 7.0 7.0 7.0 7.0 7.0 7.0
LKA0550-C0D/M/N-CJ] | Gensinface Glaskionfomi (kM) F = (15.27 XP) / (L—21) |
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever
Pressure (kN) Lever Length L (mm) Length (L)
(MPa) L=35| L=40 | L=50 | L=60 | L=70 | L=80 |L=100/L=120| (mm)
7 e 37 | 28 22 19| 14 | 11 41
6.5 53 b 35 | 26 | 21 1.7 | 13 1.1 39
6 4.9 4.9 3.2 24 19 1.6 1.2 1.0 37
55 4.5 6.0 4.5 29 22 1.8 15 1.1 0.9 35
5 4.1 55 | 41 27 | 20 | 16 | 13| 1.0 | 08 33
4.5 37 5.0 37 24 1.8 1.5 1.2 0.9 0.7 31
4 3.3 4.4 33 2.2 1.6 13 1.1 0.8 0.7 30
35 29 39 29 19 14 1.1 1.0 0.7 0.6 30
3 25 33 | 25 16 | 12 | 10 | 08 | 06 | 05 30
2.5 2.1 28 | 21 14 | 10| 08 | 07 | 05 | 04 30
2 1.7 22 1.7 1.1 0.8 0.7 0.6 0.4 0.4 30
15 13 1.7 13 0.8 0.6 0.5 0.4 0.3 0.3 30
1 0.9 1.1 09 | 06 | 04 | 04 | 03 | 02 | 02 30
0.5 0.5 06 | 05| 03| 02 02| 02| 0.1 0.1 30
Max. Operating Pressure (MPa) | 5.8 6.9 7.0 7.0 7.0 7.0 7.0 7.0

Clamping Force (kN) Clamping Force (kN) Clamping Force (kN)

Clamping Force (kN)

35

N
wn

N

[

o
n

S

w
[

w

N
w

N

n

o
@]

o

-D/M/N

. 1Ip BIaAnk
0-Slcim-
— |S =N H
K
ody size E1 Action Confirmation Method

In case of LKA0480-[JCJD/M/N : When supply hydraulic pressure P is 5.0MPa

Non-Usable Range (M)

Cylinder Force

1=33.5(s=13.5)

L=50(s=30)

=100(s=80)

Non-Usable Range (M)

Cylinder Force

L=36.5(s=14)

L=50(s=27.5)

L=100(s=77.5)

Non-Usable Range (M)

Cylinder Force

L=42(s=16.5)

L=60(s=34.5)

L=120(s=94.5)

Non-Usable Range (M)

Cylinder Force

L=50(s=20)

L=70(s=40)

=120(s=90)

=22.5(s=2.5)
/S //
// . /'//
. 74 /
A /,/ —
z P / I
=
0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa)
T T
L=25(s=2.5)
//
// L7
- e
/ -~
// ’/// —
e "
S -
P —_—
T
0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa)
L=30(s=4.5)
e |
// A~ A
/o~ | —1
T —
0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa)
/ g
~
/ / /
7 T
LA
Vs ]
L —
0 1 2 3 4 5 6 7

Supply Hydraulic Pressure (MPa)



Accessories

Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘K.SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series
Notes :

1. Tables and graphs show the relationship between the clamping force (kN) and supply hydraulic pressure (MPa). Valve /C_°“P'_e"

2. Cylinder force (when L=0) cannot be calculated from the calculation formula of clamping force. L e Ui

3. Clamping force in the non-usable range may cause damage and fluid leakage. el O i
%1. F : Clamping Force (kN), P : Supply Hydraulic Pressure (MPa), L : Lever Length (mm). Accessories

Cautions / Others
LKAOGSO-DDD/M/N-[I‘ ‘Clamp\'ngForce(a\cu\aﬂonFormu\a*‘(kN) F=(31.67 XP) /(L—245) ‘ HoleClamp
SFA
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 12 Non-Usable Range (M) SFC
Pressure kN) | LeverlengthL(mm) Length (L)
(MPa) L=40 | L=50 |L=56.5| L=80 |L=100|L=120|L=140|L=160| (mm) 10 1=40(s=5) Cylinder Force Swing Cl
7 101 (B 87 | 70 | 40 | 30 | 24 | 20 | 17 | 50 ing Zemp
65 94 W 81 [ 65| 38| 28 | 22| 18| 16 | 47 = J LHA
6 87 Wl 75| 60 | 35 26 | 20 | 17 | 15 44 Z 3 LHC
55 80 W 69 [ 55| 32 24| 19 16| 13 ) g - e LHS
5 72 103 | 63| 50 | 29 | 21 | 17 | 14 | 12| 39 5 A=) hw
45 6.5 92 | 56 | 45 [ 26 | 19 | 15| 13 [ 11 37 L 6 - o
4 5.8 82 | 50 | 40 | 23 | 17 | 14| 11| 10 35 < LT
35 5.1 72 | 44 | 35| 20 [ 15 [ 12 [ 1.0 | 09 35 £ / TLA-2
3 44 62 | 38 [ 30 18| 13 10| 09| 08 35 s 4 TLB-2
25 36 52 | 32 [ 25 15| 11 [ 09| 07 | 06 35 % | L=100(s=65) TLA-1
2 29 41 [ 25 20 12 09| 07| 06| 05 35 h e
15 22 3.0 [ 19 | 15[ 09| 07 [ 05 05 04| 35 7 _——{ L=160(s=125)
1 15 21 [ 13 [ 10 06 | 05| 04| 03| 03 35 ///ﬁ// T BT
05 0.8 111 07 [ 05[] 03] 03] 02 02/ 02 35 ol=——"1
Max. Operating Pressure (MPa) | 5.3 7.0 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 L
LKA0750-[|[|D/M/N-[I‘ ‘CIampingForceCa\cu\aﬂonFormu\aw(kN) F=(57.27 XP) / (L—30) ‘ supply Hydraulic Pressure (MPa) LJ/LM
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 18 Non-Usable Range (M) TMA-2
Pressure (kN) Lever Length L (mm) Length (L) 16 TMA-1
(MPa) L=50 | L=60 [L=67.5| L=80 |L=100[L=120L=140[L=160| (mm) L=50(s=7.5) Cylinder Force
7 149 | 134 107 | 81 | 58 | 45 | 37 | 3.1 60 14 / Work Support
6.5 138 |WW 125 [100 | 75 | 54 | 42 | 34 | 29 56 — / LD
6 128 W 115 | 92 | 69 | 50 | 39 | 32 | 27 53 2 n / LC
55 11.7 158 | 105 | 84 | 63 | 45 | 35 | 29 | 25 50 @ 1=67.5(5=25
5 10.7 144 | 96 | 77 | 58 | 41 | 32 | 27 | 23 | 47 S 10 / A // (5=25) TNE
45 96 129 | 86 | 69 | 52| 37 | 29| 24 | 20 | 45 = // S A 1€
4 8.5 ns5 [ 77 62| 46 33 26 21| 18| 43 £ 8 > - Air Sensin
35 7.5 101 | 67 | 54 | 41 29 [ 23| 19| 16 43 £ / & Lift Cylin dir
3 6.4 86 | 58 | 46 | 35 | 25| 20 | 16 | 14 43 & 6 e / A 1=1006=575) Smoaneer
25 54 721 48 [ 39 [ 29[ 21 16| 14 [ 12| 43 4 / 2 LLW
2 43 58 [ 39 [ 31 23| 17 [ 13 [ 11| 09 43 e enfes ) )
15 32 43 | 29 | 23| 18| 13 [ 10 [ 08| 07 | 43 , /// — ] lF1e0=TTS) cinear Cylinder /
1 22 29 | 20 | 16 | 12| 09 | 07 | 06 | 05 | 43 o ~ompact tyfinder
05 1.1 151 10 08 06 05| 04| 03[ 03 83 o L= LL
Max. Operating Pressure (MPa) | 57 | 7.0 | 70 | 70 | 70 | 70 | 70 | 7.0 0 1 2 3 4 5 6 7 LLR
) LLU
LKA0900-I0ID/M/N-| | Gorpngfoceoatinfomss* (kN) F = (109.42 XP) /(L= 36 Supply Hydraulic Pressure (MPa) oo
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever ‘ Non-Usable Range (M) DR
Pressure (kN) Lever Length L (mm) Length (L) 24 T / Cylinder Force DS
(MPa) L=60 | L=70 [L=775]1=100]L=120[L=140[L=160[L=200| (mm) L:60(s:1y ot
7 237 | 185 (120 | 92 | 74 | 62 | 47 72 2 7 ’ _
6.5 220 B 210 | 172 [ 112 | 85 | 69 | 58 | 44 67 — - _ Block Cylinder
6 203 [ 194 159 1103 | 79 | 64 | 53 | 41 | &3 < / - / L=775(6=215) W
55 18.6 251 [17.8 [146 | 95 | 72 | 58 | 49 | 37 60 g 16 R
5 16.9 228 [ 161 |132 | 86 | 66 | 53 | 45 | 34 | 57 5 / o
45 15.2 206 | 145 |19 | 77 | 59 | 48 | 40 | 3. 54 B 12 Yy Centering Vise
4 136 183 [ 129 [ 106 | 69 | 53 | 43 | 36 | 27 51 £ 7 FVA
35 11.9 160 | 113 | 93 | 60 | 46 | 37 | 31 | 24 50 g A L=120(s=70) FvD
3 10.2 137 | 97 | 80 | 52 | 40 | 32| 27 | 21 50 S s N~ e
25 8.5 114 | 81 | 66 | 43 | 33 | 27 | 23| 17 50 Py
2 6.8 92 | 65 | 53| 35 | 27 | 22| 18 | 14 50 Y2 — L=200(s=150) Control Valve
1.5 5.1 69 | 49 | 40| 26 | 20 | 16 | 14 | 11 50 4 V74 —
1 34 46 | 33 27 | 18| 14 | 1.1 09 | 07 | 50 A — BZL
05 1.7 23 [ 17 [ 14 09| 07 | 06| 05| 04| 50 o L=——"] BZT
Max. Operating Pressure (MPa) | 56 | 69 | 70 | 70 | 70 | 70 | 70 | 70 0 1 2 3 4 5 6 7 BZX/JZG
) BZS
LKA1 OSO-EIEID/M/N-[I‘ ‘CIampingForce(a\tu\aﬁon Fomua*1(kN) F = (188.97 XP) / (L— 44 )‘ Supply Hydraulic Pressure (MPa)
Pallet CI
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever 36 [ [ Non-Usable Range (M) aretvlamp
Pressure (kN) Lever Length L (mm) Length (L) ‘ ‘ Cylinder Force VSIVT
(MPa) =70 | L=80 [ 1=95 |[L=110]L=130[L=150[L=170[L=230| (mm) 32 L=70(s=10) Y Exoansion
7 335 I | 260 | 20.1 | 154 | 125 [ 105 | 7.2 90 / i
6.5 31.1 [ 241 | 187 1143 [ 116 | 98 | 6.7 84 ~ 28 / = —ocatngtn
6 28.7 I 315 1223 [ 172 [ 132 [ 107 | 90 | 6.1 79 Z / % 1=95(s=35) VFL/VFM
55 263 (I 289 | 204 [ 158 | 121 | 99 | 83 | 56 | 74 g 2 74 = 7 VFJ/VEK
5 239 364 | 263 | 186 | 144 | 110 | 90 | 75 | 5.1 70 5 20 / N
45 215 328 (237 167 [129 | 99 | 81 | 68 | 46 66 < / A // pull Stud Clamp
4 19.1 291 (210 [149 [115 | 88 | 72 | 60 | 4.1 63 £ 16 p_ L=130(5=70) e
35 16.8 255 | 184 | 130 [ 101 | 77 | 63 | 53 | 36 60 /L T B —
5 / Z /
3 14.4 219 (158 | 112 | 86 | 66 | 54 | 45 | 3.1 60 & 12 S FQ
25 12,0 182 |132 [ 93 | 72 | 55| 45| 38 | 26 60 / / T c ed
2 96 146 [ 105 | 75 | 58 | 44 | 36 | 30 | 21 | 60 8 el 1 1=230(s=170) cusorlzee
15 72 10 [ 79 [ 56| 433327 23] 16 60 4 / ] — opringtyfinder
1 48 7315338 29 22 18| 15| 11 60 % — DWA/DWB
05 24 37 [ 27 [ 19 15 11 [ 09| 08 | 06 60 o L=—
Max. Operating Pressure (MPa) | 5.1 6.2 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7

Supply Hydraulic Pressure (MPa) 618



619

Double-Acting Link Clamp

© Allowable Offset Graph (Option - - - Blank: Standard)

P : Hydraulic Pressure (MPa) mm)

°12
_G_J_r
o j L_—Q} H: Allowable Offset (mm)

Clamping Point

L:Lever Length (mm)

Ex.) In case of LKA0480:
When supply hydraulic pressure P is 5.0MPa and lever length L is 80mm, allowable offset becomes about 10mm.

‘ LKA0360-001]/LKA0360-0J0C-A/LKA0360-L00-K

Hydraulic Allowable Offset H (mm) Non-Usable Range (M)
Pressure | | LeverlengthL(mm)
(MPa) |L=22.5|1=27.5|L=33.5| L=40 | L=50 | L=60 | L=80 |L=100

3 4 5 7 9

3 4 6 8 11

3 4 5 7 10 12

2 3 4 6 8 11 15

3 4 5 7 9 13 17

. 3 4 6 8 11 15 20

4 2 4 5 7 10 13 18 24

35 3 4 6 9 12 15 22 29

3 3 5 8 11 15 19 27 36

2.5 4 7 10 13 19 24 34 45

2 5 9 13 17 24 31 45 50

15 8 12 18 24 34 43 50 50

1 12 19 28 38 50 50 50 50

LKA0400-00]/LKA0400-0J0C-A/LKA0400-C00-K

Hydraulic
Pressure

(MPa)

Allowable Offset H (mm) Non-Usable Range ()

‘ LKA0480-001J/LKA0480-1JUC-A/LKA0480-J0-K

Hydraulic
Pressure
(MPa)

Allowable Offset H (mm) Non-Usable Range (M)

LKA0550-000/LKA0550-00C-A/LKA0550-[J00-K

Hydraulic Allowable Offset H (mm) Non-Usable Range (M)
Pressure LeverLengthL (mm)
(MPa) =100 =120

9 12

11 14

13 16

15 19

17 22

21 26

25 31

30 37

36 | 46

46 57

60 75

80 80

80 | 80

Applicable Model
LKA

Body Size

m

Blank Blank
D an
C M - A
R N K

odel LKA

Option Blank (or A/K)

50 1MPa 2MPa
/ Supply
/ Hydraulic Pressure
g 40 /
£ 3MPa
% 30 / //
5 / / / 4MP
a
g ayd —
NS
ol :
/ / — a
é//
0
0 20 40 60 80 100
Lever Length L (mm)
Supply
Hydraulic Pressure
60 1)VlPa }APa
_ 50 /
: /
%' 40 / / 3MPa
2 /
5 30
%) / / 4MPa
g 2 /
3 / ~_— supa
< e 6MPa
10 g 7MP.
L=
é/
0
0 20 40 60 80 100 120
Lever Length L (mm)
Supply
1MPa Hydraulic Pressure
60
/2MPa"
50
/A
= 40
I /
= 3MPa
I
£ 30 / / /
e} / //
o 4MPa
_§ 20 / / ////
3 5MPa
S ,// — L 6Mpa
/7 ——7MPa
Zz—u
0
0 20 40 60 80 100 120 140
Lever Length L (mm)
1MPa Supply
80 / Hydraulic Pressure
2MPa
70 /
€
£ 60 /
T 50
5 /
%1 10 / / » /| 3MPa
@ /]
5 30 , 4MPa
2
2 20 ,/ 5MPa)
o S
e al
0
0 20 40 60 80 100 120 140

Lever Length L (mm)



Accessories

Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘l(,,g,gnﬂgﬂ(

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Notes :
1. Tables and graphs show the relationship between the lever length and the allowable offset according to the supply hydraulic pressure.
2. Using the lever beyond allowable offset may cause deformation, seizure and fluid leakage etc.
3. The tables and graphs are only for reference. The design should be carried out with allowance fully taken into consideration. Manual Operation

Accessories

Cautions / Others
‘ LKA0650-[1]1/LKA0650-1J0-A /LKA0650-LI01-K 1MPa Supply HoleClamp
: SFA
Hydraulic Allowable Offset H (mm) Non-Usable Range () 90 7 ‘Hydrauhc Pressure e
Pressure LeverLengthL (mm) / 2/MPa
(MPa) L=100 | =120 [ L=140 [ L=160 8 ( Swing Clamp
7 [ 9 [ 1113 E 70 / T
9 |1 [13 15 E / A
10 | 13 [ 15 | 18 T 60 / LHC
12 | 15 | 18 | 21 R / / 3MPa LHS
14 17 21 25 / -
S LHW
16 | 20 [ 25 | 29 @ 40 / / e —_
o 24 30 | 3 5 / /' | 4mp LG/LT
2 _LGAT
23 [ 29 [ 36 | 4 £ 30 / / r SMPa TLA-2
29 | 36 | 44 | 51 = 2 / iy TLB-2
36 | 46 | 55 | 65 ps """ ETS
47 1 60 | 72 | 85 10 e 7MPa —
6 [ 53 [ 95 | % L =
% | 9 | 95 | 9 0 25 50 75 100 125 150 175
Lever Length L (mm)
LKW
LKA0750-00/LKA0750-0J0-A/LKA0750-000-K 1MPa LJ/LM
Hydraulic Allowable Offset H (mm) Non-Usable Range () suonl _TMA-2
Pressure LeverlengthL(mm) 100 Phepeb i Pressure TMA-T
(MPa) ! =100 [ =120 [ L=140 [ L=160 _ IMPpa| 4 TTESUrE
7 9 1 13 € 80 / Work Support
8 11 [ 13 [ 16 E LD
10 | 13 [ 15 | 18 T LC
11 | 15 [ 18 | 21 9 60 y,
13 1 17 [ 21 | 25 S 3MPa e
S - TC
16 | 20 | 25 | 30 © y -
Qo
;g gg gg 4313 2 40 / / /' ﬂ/lPa Air Sensing
28 | 36 | 4 | 52 2 S —_smpa Lift Cylinder
35 | 45 | 56 | 66 20 //'///,wpa LLw
256; 2(3) 17031 18160 0 %4/ 7MPa EmearCyliCnii_erd/
ompact ylinaer
101 | 170 | 110 | 10 0 25 50 75 100 125 150 175 T
Lever Length L (mm) LLR
LLU
‘ LKA0900-[1J]/LKA0900-J0-A /LKA0900-LI0-K 6 IMPa  2MPa  3MPa op
Hydraulic Allowable Offset H (mm) Non-Usable Range (M) / / / Supply DR
Pressure Lever Length L (mm) 140 / Hydraulic Pressure DS
(MPa) T 10 / _4MPa DT
/
£ / / Block Cylinder
w10 / // SMPa DBA/DBC
[ [
£ 80 / / / /A~ _6MPa
% ! / / / / 7MPa Centering Vise
S 60 Jf NN T ua
g / //' FVA
S 4 / /A/ FVD
< // 7 FvC
20 Z
7 Control Valve
0 BZL
0 25 50 75 100 125 150 175 200 225 BZT
Lever Length L (mm) BZX/JZG
Sunpl BZS
LKA1050-]01/LKA1050-000-A/ LKA1050-000-K IMPa  IMPa  3MPa Hydradic Pressure
: Pallet CI
Hydraulic Allowable Offset H (mm) Non-Usable Range (M) 160 / / " P‘ PalletClamp
Pressure Lever Length L (mm) 140 / a VSIVT
(ME) = / // Expansion
£ 120 / / / / 5SMPa Locating Pin
= 100 V. AV4N VRLVEM
g vV /A VFJ/VFK
£ 80 iva 7 //7Mpa .
% 60 // //{/,/ Pull StL;t;CIamp
2
2 40 VIVé% FQ
<<
1/
20 4 / Customized
Spring Cylinder
0
0 25 50 75 100 125 150 175 200 225 250 DWA/DWE

Lever Length L (mm)
620



Double-Acting Link Clamp model LKA-H

@© Allowable Offset Graph (Option---H : High Strength Link Plate)

Applicable Model C Blank
© C D
a LKA 0-s/¢l ™ |
) —{ —J—r o R N
P : Hydraulic Pressure (MPa) =) E ‘ H: Allowable Offset (mm)
Clamping Point Body Size 9) Option : H selected

L:Lever Length (mm)

(Ex.) In case of LKA0480-000-H :

When supply hydraulic pressure P is 5.0MPa and lever length L is 80mm, allowable offset becomes about 46mm. Supply
Hydraulic Pressure

‘LKA0360-DDD-H ‘ - 1MPa_2MPa_3MPa 4MPa SMPa 6MPa 7MPa

Hydraulic Allowable Offset H (mm) Non-Usable Range (M) f
Pressure LeverLengthL (mm) /
(MPa) L=50 | L=60 | L=80 | L=100 40 /

23 [ 29 | 4 | 50 € | /
25 | 31 | 45 | 50 £

27 | 34 | 49 | 50 T 30 /
29 [ 37 | 50 | 50 g /

32 [ 41 | 50 [ 50 5 / /
35 | 45 | 50 | 50 2 9 /

40 | 50 | 50 | 50 2 l /7

46 | 50 | 50 | 50 H

50 | 50 | 50 | 50 =

50 | 50 | 50 | 50 = 10 7

50 | 50 | 50 | 50

50 | 50 | 50 | 50 0

50 | 50 | 50 | 50 0 20 40 60 80 100
Lever Length L (mm)

Supply
Hydraulic Pressure
LKA0400-0J0J0-H 6 1MPa WP 3WPa 4Ps SHPa GNPa TPa <~
Hydraulic Allowable Offset H (mm) Non-Usable Range (M) / /
Pressure LeverLengthL(mm) /
(MPa) 1=50 | L=60 [ =80 [L=100 50
24 | 31 | 46 | 60 | / / // /
26 | 34 | 49 | 60 m /1//
28 | 37 | 53 | 60 /
31 | 40 | 58 | 60 // /
34 | 44 | 60 | 60 30 /

7

Allowable Offset H (mm)

20 // /
/&

0 20 40 60 80 100 120
Lever Length L (mm)

Supply

i R Hydraulic Pressure
‘LKA0480 O00-H ‘ 60 1MPa 2WPa 3VPa 4MPa SMPa 6lPa 4

Hydraulic Allowable Offset H (mm) Non-Usable Range (i) 7
Pressure LeverlengthL (mm) / / 7MPa
(MPa) L=60 | L=80 |L=100|L=120 50 / /
22 | 33 | 44 | 55 / / / / /
. 40 / / y /
/4
2 7

/4

e
&
(o))
o
(o))
o
Allowable Offset H (mm)

0 20 40 60 80 100 120 140
Lever Length L (mm)

Supply
Hydraulic Pressure
LKA0550-0J0IL-H 80 1MPa 2MPa 3MPa 4MPa 5MPa 6MPa 4~
Hydraulic Allowable Offset H (mm) Non-Usable Range () I / / / / /
Pressure LeverLengthL(mm) 70 / 7MPa
(MPa) L=70 [ L=80 [L=100[L=120 _ / / /
35 | 42 | 56 | 70 £ 60 /
37 | 45 | 60 | 76 £ / / / / / //
41 | 49 | 65 | 80 T 50
44 | 53 | 71 | 80 o / / / / /
49 | 59 | 79 | 80 g 40 / /
54 | 65 | 80 | 80 2 / ///
61 | 73 | 80 | 80 2 30 /’/
70 | 80 | 80 | 80 2 //
80 | 80 | 80 | 80 z 0 7
80 | 80 | 80 | 80
80 | 80 | 80 | 80 10
80 | 80 | 80 | 80 0
80 | 8 | 80 [ 80 0 20 40 60 80 100 120 140

Lever Length L (mm)
621



Accessories

Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘K.SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series
Notes :

1. Tables and graphs show the relationship between the lever length and the allowable offset according to the supply hydraulic pressure. Valve /Coupler

2. Using the lever beyond allowable offset may cause deformation, seizure and fluid leakage etc. prer U

3. The tables and graphs are only for reference. The design should be carried out with allowance fully taken into consideration. Manual ppeiation
4. The allowable offset graph of LKA0900 and LKA1050 is the same as that of Standard Model (Option : Blank). ScCessOnES

Cautions / Others
Supply
Hydraulic Pressure Hole Clam
‘LKA0650'DDD'H ‘ 1MPa 2MPa 3MPa 4MPa SMPa 4 SFAip
Hydraulic Allowable Offset H (mm) Non-Usable Range (M) ) I J /1 /1,
Pressure LeverLengthL (mm) 80 I / / / ;/ //6MP3 BELLSEE
(MPa) L=100 [ L=120 [ =140 [ L=160 _ / Swing CI
44 | 56 | 67 | 79 E 70 / / / / / /s %
47 | 60 | 73 | 8 £ _LHA
51 65 | 79 | 92 T 60 / / // / LHC
56 | 71 | 86 | 95 ﬁ 50 / / LHS
62 | 78 | 94 | 9 17/ z;7 hw
o LHW
69 | 87 | 95 | 9 @ 40 / L
77 | 95 | 95 | 9 ke 11/ JLeAr
88 | 95 | 95 | 95 £ 30 / 7/ TLA-2
95 | 95 | 05 | 95 = 2 / TLB-2
95 95 95 95 / TLA-1
9 | 95 | 95 | 9 10 R —
%5 |95 19 | 9 0 25 50 75 100 125 150 175

Lever Length L (mm)

Supply LKW
Hydraulic Pressure o
LKA0750-UJ0JL-H IMPa 2MPa 3MPa 4MPa SMPa 4 nm
Hydraulic Allowable Offset H (mm) Non-Usable Range () I / // TMA-2
Pressure LeverlengthL(mm) 100 6MPa TMA-1
(MPa) L=100|L=120 L=140|L=160 /
43 56 68 30 5 ) / Work Support
47 | 60 | 73 | 87 £ 8 / / /7MPa LD
51 | 65 | 79 | 94 T / LC
55 71 87 102 2 60 / / e
61 | 78 | 95 | 110 5 / / -
67 | 87 | 106 | 110 o / / Tc
76 97 | 110 | 110 < 40 / Air Sensin
57 110 L1 g / y Lilft Cylir:dgr
101 110 | 110 | 110 = / R
110 | 110 [ 170 [ 110 20 7 LLW
”8 Hg Hg Hg Linear Cylinder /
110 | 110 | 110 | 110 0 Compact Cylinder
0 25 50 75 100 125 150 175 T
Lever Length L (mm) LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA/DBC

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
~ DWA/DWB

622



Double-Acting Link Clamp standard Model

623

@ External Dimensions

C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included)

Release Port ¢ P*#5

model LKA

@© Machining Dimensions of Mounting Area

-

% The drawing shows the locked state of LKA-CC.
(Option -C)
Release Port : G Thread JA B E:
(Only for Option -C: H J o
Speed Control Valve Port) Lever Direction =
L type
/ Lock Port ¢ P*5 ‘@
2-Chamfer 1 (Option -C)
f()\\/ Link Lever (Prepared by customer)  4-CA Thread*3 DK
o Lever Direction C type
N\ D C
T a T
o S = [l Remove all burrs*5 #D*Y?
v - N
O > .
= Rz63, 06
| I
| 4-9R m .
G Thread Plug ‘ Spot FacingQ X4
. Lever Direction :
Lock Port : G Thread Rovoe —
(Only for Option -C: oy
Speed Control Valve Port) AA ~._
— | S
|
%’ v&-’ 6D /N/ 2-Chamfer2 Notes :
E — \V / %3. CA tapping depth of the mounting bolt should be decided
& / I according to the mounting height referring to dimension 'S'.
Rl
° \l %4. The depth of the body mounting hole ¢ D should be decided
'_ é = 9 according to the mounting height referring to dimension 'F'.
=2 %5. The machining dimension is for -C : Gasket option.
L
2-¢ AE =
< B +
° N =
v . .
© Piping Method
“ S : Piping Option (Rc Thread)
ol %The drawing shows the locked state of LKA-SC.
Release Port
Rc Thread W@

Lock Port :

$D0S

Nx

O-ring (Included)

(Option -C)

Release Port : O-ring (Included)/

Ny Ny
|

(Option -C)

Notes :

RN
%2,

Flange inclination angle is 12°only for LKA0650.
Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension 'S".

. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever.

Please prepare speed control valve (Refer to P.947) if necessary.

Lock Port
Rc Thread

=6




Link Clamp
Digest

Index
Cross Section

@ Model No. Indication

LKA

048

Model No. Indication
Specifications

Performance
Curve

External
Dimensions

Air Sensing
Option

B

&= 0O

Lever Design

Dimensions

. Cautions
Accessories

P.715

(Y xKeSMEK

Harmony in Innovation

(Format Example:LKA0550-CC, LKA0750-SR-H)

[l Body Size

Design No.

Piping Method

[ Lever Direction

Action Confirmation (When Blank is chosen)

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

E Option Cautions / Others
Notes : Hole Clamp
1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring. SFC
Swing Clamp
© External Dimensions and Machining Dimensions for Mounting (mm) t:?
Model No. LKA0360-00] | LKA0400-0C | LKA0480-000 | LKA0550-0C A LKA0650-00 | LKA0750-0C | LKA0900-IC | LKA1050-010] t:iv
Full Stroke 185 20.5 235 26 295 35 41 49 o
Lock Stroke 16 175 20.5 23 26.5 32 38 46 LA
Extra Stroke 2.5 3 3 3 3 3 3 3 TLB-2
A 78.5 875 99 110.5 1275 151 180 209 JTLAT
B 49 54 61 69 81 94.5 109.5 127
C 40 45 51 60 70 85 100 120 [ Lkn
D 36 40 48 55 65 75 90 105 ti;v
E 48 54 60 65 73.5 84 101 15 L
F 23 29 32 37 435 47 61 65 TMA2
G 25 25 28 28 30 37 40 50 TMA-1
H 29 315 35.5 39 46 52 59.5 67 Work Support
J 20 22.5 255 30 35 425 50 60 LD
K 314 34 40 47 55 63 75 88 LC
L 66 72 81 88 106 116 136 152 Igc
M 1 n 12 12 13 16 16 19
Nx 235 26 30 335 39.5 45 525 60 o,
Ny 8 9 n 12 15 16 185 225 T,
P 3 3 3 3 > > > > Linear Cylinder /
Q 75 9 9 1 n 14 17.5 20 Compact Cylinder
R 45 55 55 6.8 6.8 9 1 14 LL
S 155 15 16 135 16 17.5 17 23 tts
T 27 30.5 35 375 45 55 64.5 77 o
U 10 12 14 16 20 22 28 355 DR
Vv 225 25 29 315 37 45 52 62 DS
w 30 30.5 345 355 39 48 525 64 el
X 20 22 26 30 35.5 435 52.5 64 Block Cylinder
Y 1 13 13 16 19 25 28 32 DBA/DBC
z 19 21 24 28 37 40 49 64 Centering Vise
Chamfer 1 2 a3 a3 c3 c4 c10 c ($152) FVA
Chamfer 2 C25 c3 a3 a3 cs5 cs R16 R18 FVD
AA 14.5 16 185 21 24.5 30 36 44 Fve
AB 743 777 24 101.9 M4 130.8 146.5 1736 Control Valve
AC 473 50.2 61.2 77 787 20.8 104.6 1225 BZL
AD 5 6 6 6 8 10 12 15 LA I
BZX/JZG
AE 5 6 6 8 10 12 15 18 Taze
AG 19.6 20.2 189 19.9 20.5 214 224 231 et Comp
CA (Nominal X Pitch) | M4x0.7 M5%0.8 M5X0.8 M6X1 M6X1 M8x1.25 M10X1.5 M12x1.75 VT
JA 35 35 35 35 45 45 45 45 _
JB 14 14 14 14 19 19 2 2 e
Lock / Option -C G1/8 G1/8 G1/8 G1/8 G1/4 Gl1/4 G3/8 G3/8 VFL/VFM
Release Port | Option -S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rcl/4 Rc3/8 Rc3/8 VFJ/VEK
O-ring (Option -C) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

624



Double-Acting Link Clamp Double End Rod Option for Dog model LKA-D

@© External Dimensions @© Machining Dimensions of Mounting Area
C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included)

%The drawing shows the locked state of LKA-CCD. Release Port ¢ P4
(Option -C) \
Release Port : G Thread JA B E‘i
(Only for Option -C: H - J R
Speed Control Valve Port) T Lever Direction =
L type
/ Lock Port ¢ P#4 ‘@
2-Chamfer 1 (Option -C)
f()\ Link Lever (Prepared by customer)  4-CA Thread3 DK
@ N / Lever Direction C type
T a T
o 29 = LS Remove all burrs*4 D"’
@] 2 N
] :
= T
= 11 Rz63 . <06
| I
| 4-¢R m
G Thread Plug ‘ Spot Facing#Q
Lever Direction / ‘
Lock Port : G Thread Retvye;;e recton/- L}
(Only for Option -C:
Speed Control Valve Port) AA
\ AG’
=
(]
é é_; 1/ | 2-Chamfer2 Notes :
“’; / %3. CA tapping depth of the mounting bolt should be decided
— 5 / A}\e according to the mounting height referring to dimension 'S'.
- N \l %4. The machining dimension is for -C : Gasket option.
X H
< i
I /Y <] @
S o
E 2
2-¢ AE =
) 7
< 3 =
L | @ Piping Method
“ 4D S : Piping Option (Rc Thread)
=02 %The drawing shows the locked state of LKA-SCD.
- ¢ DA
| Release Port
L Rc Thread
3 x| N[O [©
L1, =R i
s| ¢ = en -
) & e i —
TL¢g W f e s
- s (@ | ©
Lock Port

DD Thread Rc Thread

Lock Port : O-ring (Included)
(Option -C)

Ny Ny
|

Release Port : O-ring (Included)/
(Option -C)

Notes :
% 1. Flange inclination angle is 12°only for LKA0650.
%2. Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension 'S".
1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever.
2. Please prepare speed control valve (Refer to P.947) if necessary.

625



Link Clamp
Digest

Index
Cross Section

@ Model No. Indication

LKA

048

Model No. Indication
Specifications

Performance
Curve

External
Dimensions

Air Sensing

Option

Lever Design

Dimensions

. Cautions
Accessories

P.715

(Y xKeSMEK

Harmony in Innovation

(Format Example:LKA0550-CCD, LKA0750-SRD-H)

B

&= 0O

B

[l Body Size

Design No.

Piping Method

Lever Direction

Action Confirmation (When D is chosen)

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

E Option Cautions / Others
Notes : Hole Clamp
1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring. SFC
Swing Clamp
© External Dimensions and Machining Dimensions for Mounting (mm) t:?
Model No. LKA0360-JD | LKA0400-0CID | LKA0480-0CD | LKA0550-01CID | LKA0650-C1CD | LKA0750-0CD | LKA0900-CCD | LKA1050-C10D LHS
Full Stroke 185 205 235 2 295 35 41 49 e
Lock Stroke 16 175 20.5 23 26.5 32 38 46 LA
Extra Stroke 2.5 3 3 3 3 3 3 3 TLB-2
A 89 100.5 112 123.5 140.5 164 193 222 _TLA1T
B 49 54 61 69 81 94.5 109.5 127
C 40 45 51 60 70 85 100 120 .
D 36 40 48 55 65 75 90 105 tisv
E 48 54 60 65 73.5 84 101 115 O
F 23 29 32 37 435 47 61 65 TMA-2
G 25 25 28 28 30 37 40 50 TMA-1
H 29 315 355 39 46 52 59.5 67 Work Support
J 20 225 25.5 30 35 425 50 60 LD
K 314 34 40 47 55 63 75 88 LC
L 66 72 81 88 106 116 136 152 Igc
M n 1 12 12 13 16 16 19
Nx 235 26 30 335 395 45 525 60 plesensing
ylinder
Ny 8 9 1 12 15 16 185 225 T,
P 3 3 3 3 5 5 5 5 Linear Cylinder /
Q 75 9 9 n n 14 17.5 20 Compact Cylinder
R 45 5.5 55 6.8 6.8 9 1 14 LL
S 15.5 15 16 135 16 175 17 23 tts
T 27 30.5 35 375 45 55 64.5 77 o
U 10 12 14 16 20 22 28 35.5 DR
Vv 225 25 29 315 37 45 52 62 DS
w 30 30.5 345 355 39 48 52.5 64 ot
X 20 22 26 30 35.5 435 52.5 64 Block Cylinder
Y n 13 13 16 19 25 28 32 DBA/DBC
z 19 21 24 28 37 40 49 64 Centering Vise
Chamfer 1 (@) a3 c3 c3 c4 C10 cn ($152) FVA
Chamfer 2 2.5 a3 c3 a3 cs5 c5 R16 R18 FVD
AA 14.5 16 185 21 245 30 36 44 Fve
AB 743 777 924 101.9 1114 130.8 146.5 1736 Control Valve
AC 473 50.2 61.2 717 787 20.8 104.6 1225 BZL
AD 5 6 6 6 8 10 12 15 BLE
BZX/JZG
AE 5 6 6 8 10 12 15 18 Taze
AG 19.6 20.2 189 19.9 20.5 214 224 231 et Comp
CA (Nominal X Pitch) | M4x0.7 M5X0.8 M5X0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12x1.75 VT
JA 35 35 35 35 45 45 45 45 _
B 14 14 14 14 19 19 2 2 e
DA 8 12 14 14 14 18 18 18 VFL/VFM
DB 10.5 13 13 13 13 13 13 13 VFJ/VFK
DC 6 10 12 12 12 16 16 16 pullStud Clamp
DD (NominalXPitchXDepth)| M4X0.7X10 | M6X1X15 | M8X1.25X18 | M8x1.25X18 | M8X1.25X18 | M10X1.5X21 | M10X1.5%21 | M10X15X21 &
Lock/ | Option-C G1/8 G1/8 G1/8 G1/8 Gl1/4 G1/4 G3/8 G3/8 FQ
Release Port | Option -S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 Customized
0-ring (Option -C) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Spring Cylinder
DWA/DWB

626



627

Double-Acting Link Clamp Air Sensing Manifold Option

@ External Dimensions

C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included)
*%The drawing shows the locked state of LKA-CCM.

model LKA-M

@© Machining Dimensions of Mounting Area

Release Port ¢ P *6

(Option -C) \

-

Release Port : G Thread JA B E‘
(Only for Option -C: H J R
Speed Control Valve Port) Lever Direction =
L type
/ Lock Port ¢ P 6 ‘@
‘ 2-Chamfer 1 (Option -C)
@ f()\\/ Link Lever (Prepared by customer) 4-CA Thread*4 DK
o0 '}'r!: \ / Lever Direction C type
>7T Y /
«lZ Remove all burrs *6
) D N
2 %6
Rz63 0.6
g = 1
: — +03
G Thread PI ‘ 4¢R S —t 3
Hg ‘ Spot Facing ¢ Q i 0 Rz 6.3 f‘o
4 = =
Lever Direction : = S| <
Lock Port : G Thread R:y[r)e e B § & ¢ MArs 2| W
(Only for Option -C: - 30 =
Speed Control Valve Port) AA é © 7 N @ ®
—_| A¢’ o /
~} = ——
< (@) /| 2-Chamfer2 = L Rz6.3
sl Y 1¢a0 | z -
| K<
= s
o w 2-64~6
9 \I g *3/0% H:; ¢
— g x| = TN\ Removeal burrs
> @ < S
§ 4 = ¢ MC Air Vent Port #3
—
2-®AE S Notes :
< H % 3. Please keep clear condition at the air vent port, and
© & prevent coolant and chips from entering the port.
2 % 4. CA tapping depth of the mounting bolt should be decided
W according to the mounting height referring to dimension 'S'.
6D -0 % 5. The dimensions indicate those under the flange.
= 0.2 3% 6. The machining dimension is for -C : Gasket option.
w Lock
Confirmation Port
g —5 " (Ain @ Piping Method
Release S @ Piping Option (Rc Thread)

| 3-O-ring (Included)
=

Confirmation Port

(Air)

Air Vent Port 3

Lock Port : O-ring (Included)

Nx

(Option -C)

Ny _ Ny

Release Port : O-ring (Included)/

(Option -C)

Notes :

% 1. Flange inclination angle is 12°only for LKA0650.

2.

Mounting bolts are not provided. Please prepare them

according to the mounting height referring to dimension 'S'.
1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever.

2. Please prepare speed control valve (Refer to P.947) if necessary.

% The drawing shows the locked state of LKA-SCM.

Release Port

Rc Thread
e

Lock Port

Rc Thread

Fh
I Tt -1
- = maE




Link Clamp Index Model No. Indication | Performance |  External Air Sensing | Lever Design ) Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.715 ‘ ‘ l(H‘.’mcgnm,Eol"(
. . High-Power
@© Model No. Indication Series

(Format Example:LKA0550-CCM, LKA0750-SRM-H)

Pneumatic Series

[l Body Size
C Blank Design No.
L KA O 4 8 0 - M = H Piping Method x;:’;ﬁﬁ‘:‘:}:;’

Lever Direction

Manual Operation
Accessories

Action Confirmation (When M is chosen)

&= 0O

B B

E Option Cautions / Others
Notes : Hole Clamp
1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring. SFC
Swing Clamp
LHA
© External Dimensions and Machining Dimensions for Mounting (mm) LHC
Model No. LKA0360-0J00M | LKA0400-000M | LKA0480-0J0M | LKA0550-00M | LKA0650-000M | LKA0750-00M | LKA0900-00M | LKA1050-00M LHS
Full Stroke 18.5 20.5 235 26 29.5 35 41 49 LHW
Lock Stroke 16 175 20.5 23 26.5 32 38 46 LG/LT
Extra Stroke 2.5 3 3 3 3 3 3 3 TLA-2
A 785 88.5 100 114 134.5 153 186 223 TLB-2
B 49 54 61 69 81 94.5 109.5 127 TLA-1
C 40 45 51 60 70 85 100 120 E—
p) 36 40 48 55 65 75 90 105
E 48 55 61 68.5 80.5 86 107 129 [ Lka
Fum 23 30 33 40.5 50.5 49 67 79 LKC
G 25 25 28 28 30 37 40 50 LKW
H 29 315 35.5 39 46 52 59.5 67 L/m
J 20 225 255 30 35 42.5 50 60 VA
K 314 34 40 47 55 63 75 88 VAT
L 66 72 81 88 106 116 136 152 —
M 11 1 12 12 13 16 16 19 Work Support
Nx 235 26 30 33.5 39.5 45 52.5 60 T
Ny 8 9 11 12 15 16 18.5 22.5 c
P 3 3 3 3 5 5 5 5 e
Q 7.5 9 9 11 11 14 17.5 20 T
R 45 5.5 5.5 6.8 6.8 9 11 14
S 15.5 15 16 13.5 16 17.5 17 23 Air Sensing
T 27 30.5 35 375 45 55 64.5 77 Lift Cylinder
U 10 12 14 16 20 22 28 35.5 LW
Vv 225 25 29 31.5 37 45 52 62 _ ]
w 30 30.5 34.5 35.5 39 48 52.5 64 E'“ea'C{"C“?FL/
X 20 22 26 30 355 435 52.5 64 Lompacttyinder
Y i 13 13 16 19 25 28 32 e
z 19 21 24 28 37 40 49 64 LLR
Chamfer 1 2 a a a3 c4 C10 cn ($152) LLU
Chamfer 2 25 a a3 a cs c5 R16 R18 DP
AA 14.5 16 18.5 21 24.5 30 36 44 DR
AB 743 77.7 924 1019 111.4 130.8 146.5 173.6 DS
AC 473 50.2 61.2 717 78.7 90.8 104.6 122.5 DT
AD 5 6 6 6 8 10 12 15
AE 5 6 6 8 10 12 15 18 Block Cylinder
AG 19.6 20.2 18.9 199 20.5 214 224 23.1 DBA/DBC
CA (Nominal X Pitch) M4x0.7 M5X0.8 M5x0.8 M6X 1 M6X 1 M8x1.25 M10X1.5 M12X1.75
JA 3.5 3.5 3.5 3.5 45 45 45 45 Centering Vise
JB 14 14 14 14 19 19 22 22 FVA
MAf8 34.528% 3800 45856 45 806 45866 53 565% 53286 53 286 FVD
MAH8 345 +g.039 38+8.039 45 +8.039 45+8039 45+8.039 53 +g.046 53+8.046 53 +8.046 FVC
MB 31 36 40 40 40 59.5 59.5 59.5
MC 35.7 39.2 46.2 46.2 46.2 54.2 54.2 54.2 Control Valve
MD 325 40 43 50.5 60.5 61 79 91 BZL
ME 45.5 56.5 63.5 71 81 93.5 111.5 1235 BZT
MF 235 30.5 33.5 41 51 495 67.5 79.5 BZX/JZG
MG 45 5 5 5 5 5.5 55 55 Bzs
MH 9 9 9 9 9 12 12 12
MJ 4 7.5 11.5 11.5 11.5 20.5 20.5 20.5 Pallet Clamp
MK 6 7 7 7 7 1 11 11 VS/VT
ML 56 68 75 82.5 92.5 110.5 128.5 140.5 _
Lock/  [Option-C G1/8 G1/8 G1/8 G1/8 Gl/4 G1/4 G3/8 G3/8 fgggg;"’f;m
Release Port | Option-S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rcl1/4 Rc3/8 Rc3/8 g
0-ring (Option -C) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 _VEL/VEM
3-0-ring AS568-025(70) | AS568-028(70) | AS568-030(70) | AS568-030(70) | AS568-030(70) | AS568-032(70) | AS568-032(70) | AS568-032(70) _VRJVEK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

628



Double-Acting Link Clamp Air Sensing Piping Option model LKA-N

@ External Dimensions @© Machining Dimensions of Mounting Area
C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included)

%The drawing shows the locked state of LKA-CCN. Release Port ¢ P*5
(Option -C) O ‘

JA B z
Release Port : G Thread H J >
(Only for Option -C: l Lever Direction =
Speed Control Valve Port) ‘ L type
/ Lock Port ¢ P5
} 2-Chamfer 1 (Option -C)
‘ @/ Link Lever (Prepared by customer)  4-CA Thread 4
o ‘ Lever Direction C type
T al 1 [ i
<2 N -
@) H N
t > JI: : | | Remove all burrs #5 $D "0’
/ @ \ Rz63 , 06
| - \
G Thread Plug ‘ 4 éR H

Spot Facing ¢ Q m

;/ il
Lock Port : G Thread Lever Direction uﬁ!

Rt
(Only for Option -C: ype
Speed Control Valve Port) < AA AG
\ o
[}
) & 2-Chamfer2 Notes :
Al ) % 4. CA tapping depth of the mounting bolt should be
= ~ N decided according to the mounting height referring
P ) Nt \l to dimension 'S".
S S v ! o % 5. The machining dimension is for -C : Gasket option.
Fls| A [o}Y) =
g Byl )
S ~ NS © Piping Method
o ~\2-¢ AE S . .
115 =5 ZOAE 5 S : Piping Option (Rc Thread)
< ol T o %The drawing shows the locked state of LKA-SCN.
= =1== 2 (%]
e " : Release Port
o Rc Thread ) @ @
z $D-02 = N el
- Hesa /ﬁ\ I I
= e
18 T L
Vany Lock Conﬁrmaf(ion Port  pe== - Lock Port @ ﬁ
\\w - Rc1/8 (Air) A Rc Thread
o =
ﬁ‘ z Release Confirmation Port
€ S RAB@AD Rl | © Lock/Release Confirmation Port Phase
‘ L 3% The drawings show LKA0400~LKA1050.
NE_|||_ NE AirVent Port #3 _~
$26 N :Standard
G NA NF | ¢
Lock Port : O-ring 2-NH Thread 3 7 R
(Included)
(Option -C) —f
IS
o
> IS4 "
> - =
=z

IRZNY

Release Port: O-ring )
(Included)

(Option -C) Nx

Notes :
% 1. Flange inclination angle is 12°only for LKA0650.
%2. Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension 'S'.
%3. Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.
If exposed to coolant and chips, use NH thread of the bottom and install an attachment to prevent contamination,
but do not block the air vent port.
1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever.
2. Please prepare speed control valve (Refer to P.947) if necessary.

629



Link Clamp Index Model No. Indication | Performance |  External Air Sensing | Lever Design ) Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.715 ‘ ‘ l(H‘.’mcgnm,Eol"(
. . High-Power
@© Model No. Indication Series

(Format Example:LKA0550-CCN, LKA0750-SRNC-H)

Pneumatic Series

L N [El Body Size
C NC Blank Design No.
— - - Valve /Coupler
L K A O 4 8 O S C N L H Piping Method Hydraulic Unit
R N R - K ﬂ Lever Direction Manual Operation
Accessories
Action Confirmation (When NJ is chosen)
é h é é E Option Cautions / Others
Notes : Hole Clamp
1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring. SFC
Swing Clamp
LHA
© External Dimensions and Machining Dimensions for Mounting (mm) LHC
Model No. LKA0360-CI0NC] | LKA0400-[ICINC | LKA0480-CICINCI | LKA0550-CI0NC | LKA0650-CICINC | LKA0750-CI0NC | LKA0900-CICND | LKA1050-C0ND LHS
Full Stroke 18.5 20.5 23.5 26 29.5 35 41 49 LHW
Lock Stroke 16 17.5 20.5 23 26.5 32 38 46 LG/LT
Extra Stroke 2.5 3 3 3 3 3 3 3 TLA-2
A 78.5 88.5 100 114 134.5 153 186 223 TLB-2
B 49 54 61 69 81 94.5 109.5 127 TLA-1
C 40 45 51 60 70 85 100 120 A
D 36 40 48 55 65 75 90 105
E 48 55 61 68.5 80.5 86 107 129 T
FN 23 30 33 40.5 50.5 49 67 79 LKC
G 25 25 28 28 30 37 40 50 LKW
H 29 31.5 35.5 39 46 52 59.5 67 LI/LM
J 20 22.5 25.5 30 35 42.5 50 60 TMA-2
K 314 34 40 47 55 63 75 88 TMA-1
L 66 72 81 88 106 116 136 152 E—
M 1 1 12 12 13 16 16 19 Work Support
Nx 23.5 26 30 33.5 39.5 45 52.5 60 LD
Ny 8 9 " 12 15 16 18.5 22.5 LC
P 3 3 3 3 5 5 5 5 NG
Q 75 9 9 1 il 14 17.5 20 TC
R 4.5 5.5 5.5 6.8 6.8 9 1 14
S 15.5 15 16 13.5 16 17.5 17 23 Air Sensing
T 27 30.5 35 375 45 55 64.5 77 Lift Cylinder
0] 10 12 14 16 20 22 28 35.5 LLW
\Y 22.5 25 29 31.5 37 45 52 62 _ _
w 30 305 345 35.5 39 48 52.5 64 cinear Cylinder /
X 20 22 26 30 355 435 52.5 64 compactyIneer
Y 11 13 13 16 19 25 28 32 L
z 19 21 24 28 37 40 49 64 LLR
Chamfer 1 (@) a a3 c3 c4 C10 cn ($152) LLY
Chamfer 2 Q.5 a a3 a a5 (@) R16 R18 DP
AA 14.5 16 18.5 21 24.5 30 36 44 DR
AB 74.3 777 924 101.9 1.4 130.8 146.5 173.6 DS
AC 47.3 50.2 61.2 71.7 78.7 90.8 104.6 122.5 DT
AD 5 6 6 6 8 10 12 15
AE 5 6 6 8 10 12 15 18 Block Cylinder
AG 19.6 20.2 189 19.9 20.5 214 224 23.1 DBA/DBC
CA (NominalXPitch) M4x0.7 M5X0.8 M5X0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75
JA 3.5 3.5 3.5 3.5 4.5 4.5 4.5 4.5 Centering Vise
JB 14 14 14 14 19 19 22 22 FVA
NA 35.5 39.5 45 45 45 53 53 53 FVD
NB 31 36 40 40 40 59.5 59.5 59.5 FVC
NC 9 8.5 12 12 12 20 20 20
ND 12.5 17.5 18 18 18 29.5 29.5 29.5 Control Valve
NE - 1 2 2 2 3 3 3 BZL
NF 17 18.5 20 20 20 24 24 24 BZT
NG 25 29 29 29 29 38 38 38 BZX/JZG
NH (NominalXPitchxDepth) |  M3X0.5X6 M3X0.5X6 M3X0.5X6 M3X0.5X6 M3X0.5X6 M4X0.7 X7 M4X0.7 X7 M4X0.7 X7 “BZS
Lock / [ option -C G1/8 G1/8 G1/8 G1/8 Gl1/4 Gl1/4 G3/8 G3/8
Release Port | Option -5 Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 Pallet Clamp
0O-ring (Option -C) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 VS/VT
Expansion
Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

630



631

Double-Acting Link Clamp Quick Change Lever Option A

model LKA-A

@ External Dimensions @© Machining Dimensions of Mounting Area

C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included)

*%The drawing shows the locked state of LKA-CC-A. Release Port ¢ P ¢
(Option -C) \
Release Port : G Thread JA B E:
(Only for Option -C: H - J o
Speed Control Valve Port) T Lever Direction =
,,4*,‘ L type
/ Lock Port ¢ P 6 *@
‘ | 2-Chamfer 1 (Option-C)
@ \ ﬁﬁ/ Link Lever (Prepared by customer) ~ 4-CA Thread 4 DK
o N /Lever Direction C type
T a
« z 9 oo [ Remove all burrs *6 ¢D *9?
@) Q ) ; N
[y _ o 4 i
= Fep====es %6
D g \ |/Rz63, 06
L g @ I
A i
| 49R !
G Thread Plug ‘ SpotFacing Q %5
. Lever Direction / ‘
Lock Port : G Thread Rtype i
(Only for Option-C:
Speed Control Valve Port) SCSE 3G ~._
N [~
Bolt : SF AA
g Y Cover% o
S < < == g 2- Chamfer 2 Notes :
trn: / A i (mm| 7” %4. CA tapping depth of the mounting bolt should be decided
= / a 7,:‘_ N7 according to the mounting height referring to dimension 'S'.
[N} gl \
° f Ay ’&J b /\{\ 7 %5. The depth of the body mounting hole ¢ D should be decided
_ é Rod Pin™ [0 3/ v Lever P < o according to the mounting height referring to dimension 'F'.
=l 2 EN fFopoq\Leverrin 6. The machining dimension is for -C : Gasket option.
v N
s) I~
3 7 \%<
#115° ~N\2-¢ AE _
< - RE . i
o ] - =
T g .
© Piping Method
“ S : Piping Option (Rc Thread)
ol *The drawing shows the locked state of LKA-SC-A.
Release Port

Rc Thread

$D6) S

Nx

Lock Port

Lock Port : O-ring (Included) Rc Thread

(Option -C)

Ny Ny
|

Release Port : O-ring (Included)/
(Option -C)

Notes :
% 1. Flange inclination angle is 12°only for LKA0650.
%2. Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension 'S".
%3. Tightening Kit (LZK[__]-W) including the cover (with bolt), rod pin and lever pin is sold separately.
1. Please prepare speed control valve (Refer to P.947) if necessary.




Link Clamp
Digest

Index
Cross Section

@® Model No. Indication

LKA

048

Model No. Indication
Specifications

Performance
Curve

External Air Sensing | Lever Design . Cautions
> = ) ; ) Accessories
Dimensions Option Dimensions P.715 ‘ ‘ l(Ha,.mognm,E(!(
High-Power
Series

S

-A

B

= A0

B

(Format Example : LKA0550-CC-A, LKA0750-SR-A)

[Ell Body Size
Design No.
Piping Method
[ Lever Direction

Action Confirmation (Blank)

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

A option A
Note :
1. In case of [l Option A, unlike Blank/H/K, the lever mounting pin is not included. The dimensions of clamp main body are the same as Blank/H/K. Hole Clsa:;p
SFC
© External Dimensions and Machining Dimensions for Mounting (M) g Clame
Model No. LKA0360-000-A | LKA0400-00-A | LKA0480-000-A | LKA0550-000-A | LKA0650-C00-A | LKA0750-000-A | LKA0900-0C-A | LKA1050-00-A 1A
Full Stroke 18.5 20.5 235 26 295 35 4 49 LHC
Lock Stroke 16 175 20.5 23 26.5 32 38 46 t:iv
Extra Stroke 2.5 3 3 3 3 3 3 3 Lo/LT
A 817 90.7 102.2 15 132 155.5 184.5 2135 TLAD
B 49 54 61 69 81 94.5 109.5 127 TLB-2
C 40 45 51 60 70 85 100 120 _TLA1T
D 36 40 48 55 65 75 90 105
E 48 54 60 65 735 84 101 15 s
F 23 29 32 37 435 47 61 65 ti\fv
G 25 25 28 28 30 37 40 50 O
H 29 315 355 39 46 52 59.5 67 TMA-2
J 20 225 255 30 35 25 50 60 TMA-1
K 314 34 40 47 55 63 75 88 Work Support
L 66 72 81 88 106 116 136 152 LD
M 1 n 12 12 13 16 16 19 LC
Nx 235 26 30 335 395 45 525 60 EC
Ny 8 9 n 12 15 16 18.5 225
; 5 3 3 ] 5 5 5 5 e
Q 7.5 9 9 1 1 14 175 20 W
R 45 55 55 6.8 6.8 9 n 14 inear Cylinder
S 15.5 15 16 135 16 175 17 23 Compact Cylinder
T 27 30.5 35 375 45 55 64.5 77 LL
U 10 12 14 16 20 22 28 355 tti
v 225 25 29 315 37 45 52 62 op
w 30 30.5 345 355 39 48 525 64 DR
X 20 22 26 30 355 435 525 64 DS
Y 1 13 13 16 19 25 28 32 ot
YA 19 21 24 28 37 40 49 64 Block Cylinder
Chamfer 1 2 a a a 4 C10 an (#152) _DBA/DBC
Chamfer 2 25 a3 a3 c3 cs5 cs R16 R18 Centering Vise
AA 14.5 16 18.5 21 24.5 30 36 44 FVA
AB 74.3 777 924 101.9 114 130.8 146.5 1736 FVD
AC 473 50.2 61.2 717 78.7 90.8 104.6 1225 Fve
AD 5 6 6 6 8 10 12 15 Control Valve
AE 5 6 6 8 10 12 15 18 BZL
AG 196 202 189 19.9 205 214 224 231 :;;T
CA (NominalxPitch) M4x0.7 M5%0.8 M5x%0.8 M6X1 M6x1 M8x1.25 M10X1.5 M12X1.75 Tare
SA 3 3 3 3 4 4 5 5
SB 2% 26 30 35 45 50 58 73 Pallet Clamp
VS/VT
sC 21 24 26 29 345 43 50 60 _
D 105 1.5 13 17 20 25 32 36 e b
SE 1 12.5 13 16.5 18.5 23 26 32 VFL/VFM
SF (NominalxPitchxDepth) | M3X0.5X6 | M3X0.5X6 | M3X0.5X6 | M3X0.5%8 | M4X07x8 | M4x0.7x10 | M5X0.8X12 | M5X0.8X12 VFJ/VFK
SG 35 4 55 7 8.5 95 n 13 Ul Stud Clamp
A 35 35 35 35 45 45 45 45 .
B 14 14 14 14 19 19 22 22 FQ
Lock/ Option-C G1/8 G1/8 G1/8 G1/8 Gl/4 G1/4 G3/8 G3/8 Customized
Release Port | Option -S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 Spring Cylinder
O-ring (Option-C) | ORNBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P7-N | OR NBR-90 P7-N | OR NBR-90 P7-N | OR NBR-90 P7-N _DWA/DWB

632



633

Double-Acting Link Clamp Air Sensing Option

@© Air Sensing Option (Action Confirmation Method-+-M :

Action confirmation can be conducted by detecting
differential pressure with the air catch sensor connected to
the lock confirmation port and the release confirmation port.

[ Air Catch Sensor

model LKA-M/N

Air Sensing Manifold Option / N : Air Sensing Piping Option)

Applicable Model Blank
cllkliim| | A

LKA 048 0 - < C iy~ +
R K

L1 Action Confirmation Method
: In case of M/N

Air catch sensor is required in order to conduct the action confirmation of the piston rod.

Recommended Operating Air Pressure : 0.2 MPa

Recommended Air Catch Sensor

Manufacturer SMC CKD
Name Air Catch Sensor Gap Switch
Model No. ISA3-G GPS3-E

In order to carry out stabilized detection, the number of clamps connected per air catch sensor should be no more than 4.

The air pressure to the air catch sensor should be 0.2MPa.
Refer to the drawing below for the air circuit structure.

™ ™

Air Catch Sensor

Lock Confirmation o o

Release Confirmation E L.

@ S5um
[ 00

0.2MPa
(Recommended)

[ Notes for Design - Installation + Use

@ Please keep clear condition at the air vent port, and
prevent coolant and chips from entering the port.
The air catch sensor can malfunction if the air vent
port is blocked.

|
x G G

o N

@® When mounting a lever, match the marks on the piston rod
and the cylinder. Detection is not possible if it is mounted

reversely by 180°.

@ Before mounting M : Manifold Model, apply adequate
amounts of grease on O-ring of the manifold.
The O-ring can be twisted or damaged when in a dry state.
If too much grease is applied, the air catch sensor
can malfunction due to overflow grease blocking
the detection port.



Cautions
P.715

External
Dimensions

Performance
Curve

Model No. Indication
Specifications

Index
Cross Section

Air Sensing
Option

Lever Design
Dimensions

Link Clamp
Digest

Accessories

(Y xKeSMEK

Harmony in Innovation

High-Power
Series

[ Air Sensing Chart

Pneumatic Series

Hydraulic Series

Valve /Coupler
\ Hydraulic Unit

Number directly connected to clamp: 1

(Supply Air Pressure)

o
[N}

Manual Operation
Accessories

Differential Pressure for Detection

Air Catch Sensor Set Pressure (ON)

B

ressure when Nozzle Opened

Extra Stroke

Cautions / Others

When locking after released state

/s

Pressure when Nozzle Closed

Hole Clamp
SFA
SFC

Piston Rod

Lock Air Pressure Detected (MPa)

Full Stroke

Swing Clamp
Ao LHA

Lock Stroke

(Lock stroke) (Extra stroke)

Full stroke Lock End

Release End Lock
Confirmation Port

(Lock Detection Air)

LG/LT
TLA-2
TLB-2
TLA-1

[ LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

0.5%05 *1

Release
Confirmation Port
(Release Detection Air)

(Supply Air Pressure)

o
[N}

Air Vent Port

Differential Pressure for Detection

Air Catch Sensor Set Pressure (ON)

B

Pressure when Nozzle Opened

Work Support
LD

When releasing after locked state

/

Pressure when Nozzle Closed

Release Air Pressure Detected (MPa)

Air Sensing
Lift Cylinder

LLW

1. The sensing chart shows the relationship between the stroke and detection circuit air pressure.

2. The location of a signal from air sensor output varies depending on the sensor setting.

3. The detection pressure varies depending on the number of clamps connected per circuit. (Maximum number of clamps connected : 4)
4. The features may vary depending on the air circuit structure. Please contact us for further information.

. There is a certain tolerance with regard to the position where the pressure for fully closing the detection nozzle is reached depending on

Linear Cylinder /
Compact Cylinder

LL
LLR
LLU
DP

the clamp structure. (Refer to the sensing chart.)

Model No.

LKA0360-]0IM
LKA0360-CICN

LKA0400-CCM
LKA0400-(ICIN

LKA0480-C1CIM
LKA0480-CICIN

LKA0550-00mM
LKA0550-0ICN

LKA0650-00M
LKA0650-0I0N

LKA0750-00M
LKA0750-CICN

LKA0900-C1CIM
LKA0900-CICIN

LKA1050-00M
LKA1050-(JCIN

DR
DS
DT

Full Stroke mm

18.5

20.5

235

26

295

35

41

49

Block Cylinder

Lock Stroke mm

16

17.5

20.5

23

26.5

32

38

46

Extra Stroke mm

2.5

3

3

3

3

3

3

3

Number directly connected to clamp : 4 (for reference)

(Supply Air Pressure)

o
)

Lock Air Pressure Detected (MPa)

’ When locking after released state

Air Catch Sensor Set Pressure (ON)

Release End

Lock End

0.2

(Supply Air Pressure)

Release Air Pressure Detected (MPa)

’ When releasing after locked state

Air Catch Sensor Set Pressure (ON)

Release End

Lock End

DBA/DBC

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

634



635

Dou bIe-Acting Link Clamp Lever Design Dimensions / Accessories model LKA
© Link Lever Design Dimensions
% Reference for designing link lever.
Corresponding Model No. oIt Blank BIan
LKA 0- gl M |-
~ R N H
K
Body Size é Option
P Thread *!
@ EH7
/ g
_ / / i
- =
//
77
- Y @
/7
// -
K ¢DH7
G
)
5 A /]
w %{ 7 v
//
) /
© Calculation List of Link Lever Design Dimension
(mm)
Cortesponding ModelNo.|  LKA0360 LKA0400 LKA0480 LKA0550 LKA0650 LKA0750 LKA0900 LKA1050
A 14.5 16 18.5 21 24.5 30 36 44
B 12,5 14 16 20 25 32 38 45
C 100, 1205 1205 16 03 19 03 22 85 25 05 32 04
D 5 +8‘012 6 +8A012 6 +8.012 6 +84012 8 +8.015 10 +8.015 12 +8.018 15 +8A018
E 5 +8,012 6 +8.012 6 +8A012 8 +8,015 10 +8.015 12 +8.018 15 +8.018 18 +8.018
F 5 6 6 8 10 1 13 16
G 10 1.5 13 12.5 16 20 24 28
H R2.5 R3 R3 R4 R5 R5.5 R6.5 R8
J 10 12 13 13 17.5 22 26 30.5
K R4.5 R5.5 R6 R6 R8 R10 R11 R13
L 45 55 6 6 8 10 1 13
M 2.5 25 35 6 7.5 95 13 16
N 45 55 6 6 8 10 n 13
P(NominalxDepfﬁ)] M3X0.5 Through | M3X0.5 Through | M3X0.5 Through |  M3X0.5X6 | M4X0.7 Through | M4X0.7X7 M5X0.8X8 M5X0.8X8

Notes :

1.Please design the link lever length according to the performance curve.
2.If the link lever is not in accordance with the dimension shown above, performance may be degraded and damage can occur.

3.For E Option Blank/H/K, use the attached pin (equivalent to # ADf6, ¢ AEf6, HRC60) as the lever mounting pin.

(Refer to external dimensions of the clamp body for the dimensions of ¢ AD, ¢ AE.)
4.For [ Option A, the lever mounting pin is not included in the clamp.
Please order Tightening Kit for Quick Change Lever Option A (LZK[__1-W).

%1.Machining of P Thread is required only when using Tightening Kit for Quick Change Lever Option A (LZK[_1-W).



Accessories

Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘K.SMEK

Harmony in Innovation

. . . . High-Power
@ Accessories : Material Link Lever Series

Pneumatic Series

go B Hydraulic Seri
s

Model No. Indication
E

Valve /Coupler
Hydraulic Unit

@ MH7 [9) ’CW L Z K m 0 - L Manual Operation
Size Design No. Accessories
O

(Refer to the table.) (Revision Number)

Cautions / Others

+
K L002

Hole Clamp
SFA
(mm) SFC
Model No. LZK0360-L | LZK0400-L | LZK0480-L | LZK0550-L | LZK0650-L | LZK0750-L | LZK0900-L | LZK1050-L  Swing Clamp
Corresponding ModelNo. | LKAO360 LKA0400 LKA0480 LKA0550 LKA0650 LKA0750 LKA0900 LKA1050 LHA
A 65 75 85 90 105 10 160 220
108, 12.95 123, 1695 1995 22 ¢, 258, 329, thw
12,5 14 16 20 25 32 38 45 LG/LT
5 6 6 8 10 1 13 16 TLA-2
12,5 14.5 16 16.5 21 255 30.5 36 %
R2.5 R3 R3 R4 R5 R5.5 R6.5 RS

10 12 13 13 175 2 26 305
45 55 6 6 8 10 1 13 LKA

LKC
14.5 16 18.5 21 245 30 36 44 LKW

4.5 55 6 6 8 10 n 13 LJ/LM

2.5 2.5 35 6 7.5 9.5 13 16 IMA-2
5 +8Ao12 6 +8A012 6 +8.012 6 +8A012 8 +8,o15 10 +8Ao15 12 +8.018 15 +8,o13 TMA-1

ZIZ x|« |T|Io|mmO|Nn|wm

5 +8,012 6 +0,(())12 6 +3.012 8 +8A015 10 +8.015 12 +84018 15 +3.018 18 +8,018 Work Support

LD
Notes : Lc

1.Material S45C  Surface Finishing : Alkaline Blackening TNC
2.1f necessary, the front end should be additionally machined and finished. TC
3.For E Option Blank/H/K, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin. Air Sensi
4.For [ Option A, the lever mounting pin is not included in the clamp. Lilfrt Cenyn'Zir
Please order Tightening Kit for Quick Change Lever Option A (LZK[_1-W). LLW
5.When using Tightening Kit for Quick Change Lever Option A (LZK[C_1-W), a tapped hole should be additionally machined. ) _
. . . . . L Linear Cylinder /
Refer to the link lever design dimensions (P Thread part) for additional machining. Compact Cylinder
LL
LLR
LLU
DP
DR

@ Accessories : Tightening Kit for Quick Change Lever Option A DS

DT

Model No. Indication Block Cylinder

LZK 040 0 - W el " omwosc
Size 1 Design No. --r -----

(Refer to the table.) (Revision Number)

Centering Vise
FVA

FVD

Bolt
. FvC
Lever Pin

Hex. Socket

Cover
Tightening Kit for mounting Quick Change Lever Option A. Control Valve
BZL
Sold separately from clamp body. Rod Pin BZT
. BZX/JZG
[Contents of Tightening Kit] Link Lever e
+ Cover (with Bolt) + Rod Pin -« Lever Pin
Pallet Clamp
VS/VT
Model No. LZK0360-W | LZK0400-W | LZK0480-W | LZK0550-W | LZK0650-W | LZK0750-W | LZK0900-W | LZK1050-W Ejfg:g;‘;f;m
Corresponding Model No. | LKA0360-[1-A |LKA0400-[]-A |LKA0480-[-A | LKA0550-[1-A | LKA0650-[]-A | LKA0750-[]-A |LKA0900-[1-A | LKA1050-[1-A VFL/VEM
NominalXPitch of Bolt M3X%0.5 M3X%0.5 M3X%0.5 M3X%0.5 M4x0.7 M4x0.7 M5X%0.8 M5X%0.8 VFJ/VFK
Hex. Socket mm 25 2.5 25 2.5 3 3 4 4 pull Stud Clamp
Tightening Torque N+m 1.3 13 13 1.3 32 32 6.3 6.3 Fp
FQ
Customized
Spring Cylinder
DWA/DWB

636



Hydraulic Link Clamp cautions model LKA/LKC/LKW/LJ/LM/TMA-2/TMA-1
T

715

@ Cautions

@ Notes for Design

1) Check Specifications
@ Please use each product according to the specifications.

2) Notes for Circuit Design

@ Please read "Notes on Hydraulic Cylinder Speed Control Unit" for
proper hydraulic circuit design. Improper circuit design may lead
to malfunctions and damages. (Refer to P.1356)

@ Ensure there is no possibility of supplying hydraulic pressure to
the lock port and the release port simultaneously.

3) Notes for Link Lever Design

® Make sure no force is applied to the piston rod except from the axial
direction. The usage like the one shown in the drawing below will
apply a large bending stress to the piston rod and must be avoided.

@ If offset load is applied on the link part, use it within the allowable
range of "Allowable Offset Graph".

4) Protect the exposed area of the piston rod when using on a welding
fixture.
@ |f spatter attaches to the sliding surface it could lead to malfunction

and fluid leakage.

5) When clamping on a sloped surface of the workpiece
® Make sure the clamping surface and the mounting surface of

the clamp are parallel.

6) When using in a dry environment
@ The link pin can be dried out. Grease it periodically or use a special

pin. Contact us for the specifications of special pins.

7) Notes for LKA-M/N, LKW

@ When using air sensing link clamp (LKA-M/N, LKW), make sure to check
the Notes for Design - Installation - Use (Pages shown below).
+ Link clamp with air sensing option LKA-M/N : Refer to P.633.
« Link clamp with air sensing valve LKW : Refer to P.655.

® Installation Notes

1) Check the Usable Fluid
® Please use the appropriate fluid by referring to the Hydraulic
Fluid List (P.1355).

2) Installation of the Product

@® When mounting the clamp, use hexagonal socket bolts as
multiple bolt holes for mounting (with tensile strength of 12.9)
and tighten them with the torque shown in the table below.
Tightening with greater torque than recommended can dent
the seating surface or break the bolt.

Model No. Thread Size Tightening Torque (N-m)
LKA0360 M4x0.7 4.0
LKA0400
LKC0400/LKW0401 M5x08 80
LKA0480 M5X0.8 8.0
LKA LKC0480/LKW0481
LKC LKA0550
LKW LKC0550/LKW0551 M6l 1
LKA0650 Mo 1 14
LKC0650/LKW0651
LKA0750/LKW0751 M8X1.25 33
LKA0900 M10X1.5 65
LKA1050 M12X1.75 114
LJ0302/LM0300 M4x0.7 32
LJ0362/LM0360 M4x0.7 32
LJ0402/LM0400 M5Xx0.8 6.3
LJ0482/LM0480 M5X0.8 6.3
LM LJ0552/LM0550 M6X 1 10
LJ0652/LM0650 M6X 1 10
LJ0752/LM0750 M8X1.25 25
LJ0902 M10X 1.5 58.8
LJ1052 M12X1.75 98
TMA0250 M5X0.8 6.9
TMA0400 M5X0.8 6.9
TMA0600 M6X1 11.8
TMA TMA1000 M8X1.25 25
TMA1600 M10X 1.5 58.8
TMA2500 M12X1.75 98
TMA3200 M12X1.75 98

3) Installation / Removal of the Link Lever
® When inserting the link pin, do not hit the pin directly with a hammer.
When using a hammer to insert the pin, always use a cover plate with

a smaller diameter than the spring ring groove on the pin.




Link Clamp | o ‘{4 KOSMEK

Digest P.607 Harmony in Innovation

High-Power
Series

Pneumatic Series

® The following shows the tightening torque for the mounting bolt 5) Speed Adjustment

of the quick change lever option A. @ Adjust the speed so that the total operating time is one second or
. . . A Valve /Coupler
Quick Change Lever Option A more. If the clamp operates too fast the parts will be worn out leading Hydraulic Unit
Model No. Thread Size | Tightening Torque (N-m) to premature damage and ultimately complete equipment failure.
LKA0360-[1[]-A M3X05 13 or K | irf he circuit bef diusti Manual Operation
1J0362-1100-A / LMO360- 1 1-A . . ease make sure to release air from the circuit before adjusting .
LKA0400-[1[1-A speed. It will be difficult to adjust the speed accurately with air
LKC0400-C10-A / LKW0401-00-A M3X0.5 13 mixed in the circuit. Cautions/ Others

LJ0402-[][]-A / LM0400-[I[J-A

LKA0480-[1[]-A
LKC0480-(1(1-A / LKW0481-[1[1-A M3x0.5 13 (small flow) to the high-speed side (large flow) to adjust the speed. Hole Clamp

@ Turn the speed control valve gradually from the low-speed side

LJ0482-1(J-A/LM0480-J(1-A SFA
LKA0550-(](-A SFC
LKC0550- J0J-A / LKW0551-001-A M3X0.5 13 Swing Clamp
LJ0552-[1(]-A /LM0550-[1(J]-A LHA
LKA0650-[1[1-A he
LKC0650-[11-A / LKW0651-[1[1-A M4x0.7 32 s
LJ0652-1(]-A/LM0650-1-A hw
LKA0750-[1[]-A/LKWO0751-[1[]-A
X 0. : LG/LT
LJ0752-[1(J-A/LM0750-[1(J-A M4x07 32 iAo
LKA0900-[1[]-A M5x0.8 6.3 T8
LKA1050-[1(]-A M5X0.8 6.3
TLA-1
|
Bol - -
Lever Pin LKA
Cover
-
Rod Pin
Link Lever
Work Support
LD
LC
TNC
4) Notes on dual rod option (-D) for dog application. TC
® When attaching dog, set up the piston so that it will not turn around. Air Sensing
. Lift Cylinder
Please secure the dog or cam and prevent any rotation or torque on W

the piston rod. Tightening torque of mounting screw is shown in
Linear Cylinder /
the table below. Compact Cylinder

o @] Y LL
LLR
LLU

/©

Block Cylinder
g DBA/DBC

Centering Vise

FVA
FVD
FVC
Model No. Thread Size Tightening Torque (N+m) Control Valve
LKA0360-CJC1D M4x0.7 32 BZL
LKA0400-0C1D M6X1 10 BZT
LKA0480-JCID M8X1.25 25 TBIXZG
LKA-D LKA0550-JCD M8X%1.25 25 875
LKA0650-]C1D M8X1.25 25
LKA0750-0JC1D M10X 1.5 50 Pallet Clamp
LKA0900-0JCD M10X1.5 50 VS/VT
LKA1050-0JC1D M10X 1.5 50 )
Expansion
Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
* Installation Notes  + Hydraulic Fluid List + Notes on Hydraulic Cylinder Speed Control Circuit Spring Cylinder

% Please refer to P.1355 for common cautions. _ ) _ DWA/DWB
* Notes on Handling ~ * Maintenance/Inspection  * Warranty —

716



1355

Cautions

@ Cautions

@ Installation Notes (For Hydraulic Series)

1) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid List.

2) Procedure before Piping

@ The pipeline, piping connector and fixture circuits should be cleaned
by thorough flushing.

@ The dust and cutting chips in the circuit may lead to fluid leakage
and malfunction.

@ There is no filter provided with Kosmek’s product except for a part
of valves which prevents foreign materials and contaminants from
getting into the circuit.

3) Applying Sealing Tape

® Wrap with tape 1 to 2 times following the screw direction.

@ Pieces of the sealing tape can lead to oil leakage and malfunction.

@ Please implement piping construction in a clear environment to
prevent anything getting in products.

4) Air Bleeding of the Hydraulic Circuit

@ [f the hydraulic circuit has excessive air, the action time may become
very long. If air enters the circuit after connecting the hydraulic port
or under the condition of no air in the oil tank, please perform
the following steps.

(D Reduce hydraulic pressure to less than 2MPa.
@ Loosen the cap nut of pipe fitting closest to the clamp by one full turn.
(3 Shake the pipeline to loosen the outlet of pipe fitting.

Hydraulic fluid mixed with air comes out.

@ Tighten the cap nut after bleeding.
® Itis more effective to release air at the highest point inside
the circuit or at the end of the circuit.

(Set an air bleeding valve at the highest point inside the circuit.)

5) Checking Looseness and Retightening
@ At the beginning of the machine installation, the bolt and nut may
be tightened lightly. Check the looseness and re-tighten as required.

® Hydraulic Fluid List

1SO Viscosity Grade ISO-VG-32

Maker Anti-Wear Hydraulic Oil | Multi-Purpose Hydraulic Oil
Showa Shell Sekiyu Tellus S2 M 32 Morlina S2 B 32
Idemitsu Kosan Daphne Hydraulic Fluid 32 | Daphne Super Multi Oil 32
JX Nippon Oil & Energy Super Hyrando 32 Super Mulpus DX 32
Cosmo Ol Cosmo Hydro AW32 | Cosmo New Mighty Super 32
ExxonMobil Mobil DTE 24 Mobil DTE 24 Light
Matsumura Oil Hydol AW-32
Castrol Hyspin AWS 32

Note : Please contact manufacturers when customers require products in the list above.



Installation Notes : Y Notes on Hydraulic Cylinder . . . {
(For Hydraulic Series) Hydraulic Fluid List Sl o A Notes on Handling | Maintenance/Inspection Warranty ‘ l KHOSMEIK

Harmony in Innovation

High-Power
Series
® Notes on Hydraulic Cylinder Speed Control Unit Pneumatic Series
é Please pay attention to the cautions below. Design the hydraulic circuit for controlling the action speed of hydraulic cylinder. Hydraulic Series
Improper circuit design may lead to malfunctions and damages. Please review the circuit design in advance.

Valve /Coupler
Hydraulic Unit

® Flow Control Circuit for Single Acting Cylinder In the case of meter-out circuit, the hydraulic circuit should e @
For spring return single acting cylinders, restricting flow be designed with the following points. Accessories
during release can extremely slow down or disrupt release action. (@ Single acting components should not be used in the same
The preferred method is to control the flow during the lock action flow control circuit as the double acting components.
using a valve that has free-flow in the release direction. The release action of the single acting cylinders may become
Itis also preferred to provide a flow control valve at each actuator. erratic or very slow.

N on
l_o—l B :":I évéﬁl:l
L FTETE—
=~

~] @ I Hydraulic Fluid List

= S S

Notes on Hydra der
Speed Control

Notes on Handling

Maintenance/
Accelerated clamping speed by excessive hydraulic flow to |Z| X | }\/\/ Inspection
the cylinder may sustain damage. In this case add flow control to @L-' Warranty
regulate flow. (Please add flow control to release flow if the
lever weight is put on at the time of release action when using Refer to the following circuit when both the single acting Company Profile
swing clamps.) cylinder and double acting cylinder are used together. Company Profile
O Separate the control circuit. Our Products

Flow Control at the Release Side

-------- / History
EatieSUIE =N 2 o
= o ok 4

A X} A X} I

N

Sales Offices

|

L L
® Flow Control Circuit for Double Acting Cylinder ®
Flow control circuit for double acting cylinder should have meter-out
circuits for both the lock and release sides. Meter-in control can O Reduce the influence of double acting cylinder control unit.
have adverse effect by presence of air in the system. However, due to the back pressure in tank line, single action
However, in the case of controlling LKE, TMA, TLA, both lock side cylinder is activated after double action cylinder works.

and release side should be meter-in circuit.

Refer to P.75 for speed adjustment of LKE. :":| Aﬁéﬁz

For TMA and TLA, if meter-out circuit is used, abnormal high

pressure is created, which causes oil leakage and damage. E(, E(, E

[Meter-out Circuit] (Except LKE/TMA/TLA)
X

-~

I | @ In the case of meter-out circuit, the inner circuit pressure may
increase during the cylinder action because of the fluid supply.
E(' Ek The increase of the inner circuit pressure can be prevented by
reducing the supplied fluid beforehand via the flow control valve.
II X | }‘N Especially when using sequence valve or pressure switches for
@L-' clamping detection. If the back pressure is more than the set

pressure then the system will not work as it is designed to.

[Meter-in Circuit] (LKE/TMA/TLA must be controlled with meter-in.)
:":I :":I E2N

X Sequence Valve

Flow Control Valve
(Any location is OK)

1356



1357

Cautions
=

@ Cautions

@ Notes on Handling

1) It should be operated by qualified personnel.
@ The hydraulic machine and air compressor should be operated
and maintained by qualified personnel.

2) Do not operate or remove the product unless the safety protocols
are ensured.

@ The machine and equipment can only be inspected or prepared
when it is confirmed that the safety devices are in place.

(2 Before the product is removed, make sure that the above-mentioned
safety devices are in place. Shut off the pressure and power source,
and make sure no pressure exists in the air and hydraulic circuits.

(3 After stopping the product, do not remove until the temperature
drops.

@ Make sure there is no abnormality in the bolts and respective parts
before restarting the machine or equipment.

3) Do not touch a clamp (cylinder) while it is working.
Otherwise, your hands may be injured due to clinching.

X th

4) Do not disassemble or modify.
@ [f the equipment is taken apart or modified, the warranty will be
voided even within the warranty period.

@® Maintenance and Inspection

1) Removal of the Machine and Shut-off of Pressure Source

® Before the machine is removed, make sure that safety devices
and preventive devices are in place. Shut off the pressure and
power source, and make sure no pressure exists in the air and
hydraulic circuits.

@ Make sure there is no abnormality in the bolts and respective
parts before restarting.

2) Regularly clean the area around the piston rod and plunger.
® Ifitis used when the surface is contaminated with dirt, it may lead
to packing seal damage, malfunctioning and fluid leakage.

3) Please clean out the reference surfaces on a regular basis (taper
reference surface and seating surface) of the locating products.
(VS/VT/VEL/VEM/VEJ/NEK/WVS/VWM/VWK/VX/VXE/VXF)

® The locating products, except VX/VXE/VXF model, can remove
contaminants with cleaning functions. However, hardened cutting
chips, adhesive coolant and others may not be removed. Make sure
there are no contaminants before installing a workpiece/pallet.

@ Continuous use with contaminant on components will lead to
locating accuracy failure, malfunction and fluid leakage.

211

D

1t
NI

X @)

4) If disconnecting by couplers, air bleeding should be carried out
on a regular basis to avoid air mixed in the circuit.

5) Regularly tighten nut, bolt, pin, cylinder, pipe line and others to
ensure proper use.

6) Make sure the hydraulic fluid has not deteriorated.
7) Make sure there is a smooth action without an irregular noise.
® Especially when it is restarted after left unused for a long period,

make sure it can be operated correctly.

8) The products should be stored in the cool and dark place
without direct sunshine or moisture.

9) Please contact us for overhaul and repair.



Installation Notes Notes on Hydraulic Cylinder
(For Hydraulic Series)

Hydraulic Fluid List

Speed Control Circuit Notes on Handling |Maintenance/Inspection Warranty ‘ {l KHOSMEIK

Harmony in Innovation

® Warranty

1) Warranty Period
@ The product warranty period is 18 months from shipment from

our factory or 12 months from initial use, whichever is earlier.

2) Warranty Scope

@ If the product is damaged or malfunctions during the warranty
period due to faulty design, materials or workmanship, we will
replace or repair the defective part at our expense.
Defects or failures caused by the following are not covered.

@ If the stipulated maintenance and inspection are not carried out.

@ If the product is used while it is not suitable for use based on
the operator’s judgment, resulting in defect.

@ Ifitis used or operated in an inappropriate way by the operator.
(Including damage caused by the misconduct of the third party.)

@ If the defect is caused by reasons other than our responsibility.

® If repair or modifications are carried out by anyone other than Kosmek,
or without our approval and confirmation, it will void warranty.

® Other caused by natural disasters or calamities not attributable to
our company.

@ Parts or replacement expenses due to parts consumption and
deterioration.

(Such as rubber, plastic, seal material and some electric components.)

Damages excluding from direct result of a product defect shall be
excluded from the warranty.

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Installation Notes
(For Hydraulic Series)

Hydraulic Fluid List

Notes on Hydraulic Cylinder
Speed Control Circuit

Notes on Handling
Maintenance/
Inspection

Company Profile
Company Profile
Our Products

History

Index

Search by
Alphabetical Order

Sales Offices

1358



Control Valve

Model BZL
Model BZT
Model BZX
Model JZG
Model BZS

Directly-Attached Speed Control Valve,
Air Bleed Valve, G-Thread Plug and Sequence Valve

947

® Directly Attached to Clamps

Control Valves :
Speed control valve, air bleed valve, G-thread plug and sequence valve
attached directly into Kosmek hydraulic clamp G-thread piping option.

G Thread Plug

)
N——

Adjusting Screw Lock Nut

Speed Control Valve

Speed Control Valve Air Bleed Valve G Thread Plug Direct-Mount Sequence Valve
Model BZL
Model BZX Model JZG Model BZS
Model BZT




Control Valve
Digest

(Y xKeSMEK

Operating
Pressure Range

Action Description

Speed Control Valve
(For Low Pressure)

Model B Z L

— P.949

7MPa or less

Speed Control Valve
(For High Pressure)

Model BZT

— P.953

35MPa or less

Adjust the flow rate with a wrench.

Able to adjust the clamping speed individually.

Clamp

3

&
i

=

Air bleeding in the circuit is possible

by loosening the speed control valve.

Flow Control

Air Bleed Valve

Model BZX

— P.955

25MPa or less

Air bleeding in the circuit is possible by wrench.

-

<

G Thread Plug

Model JZG

— P.957

35MPa or less

Air bleeding in the circuit is possible

by loosening the G thread plug.

&

ufl

Direct-Mount
Sequence Valve

Model BZS

— P.959

7MPa or less

Sequence Valve directly attaches to KOSMEK
hydraulic clamp’s G-thread piping option.
Controls the operating sequence of each actuator.

Hydraulic Clamp

Direct-Mount
Sequence Valve

e alve

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

LLW

Linear Cylinder /
Compact Cylinder

LL
LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZX/JZG
Pallet Clamp

VS/VT
Expansion
Locating Pin

VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

948



949

Control Valve speed Control Valve (For Low Pressure) model BZL
© Model No. Indication (Speed Control Valve for Low Pressure)
1
G Thread Size
10 : Thread Part G1/8A Thread
20 : Thread Part G1/4A Thread
Thread Part
30 : Thread Part G3/8A Thread
Design No.
1 : Revision Number
Control Method
A : Meter-in A B
B : Meter-out Circuit Symbol : Meter-in Circuit Symbol : Meter-out
P1 Port P1 Port
Hyd. Pressure P2 Port Hyd. Pressure P2 Port
Supply Side Clamp Side Supply Side Clamp Side
© Specifications
Model No. BZL0101-A BZL0201-A BZL0301-A BZL0101-B BZL0201-B BZL0301-B
Max. Operating Pressure MPa 7
Withstanding Pressure MPa 10.5
Control Method Meter-in Meter-out
G Thread Size GIBA | GIAA | G3/8A GisA | GiaA | G3A
Cracking Pressure MPa 0.04 0.12
Max. Passage Area mm? 26 ‘ 5.0 ‘ 11.6 26 ‘ 5.0 ‘ 10.2
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 25 35 10 25 35
Weight g 12 26 48 12 26 48

Notes: 1. It must be mounted with recommended torque. Because of the structure of the metal seal,
if mounting torque is insufficient, the flow control valve may not be able to adjust the flow rate.
2. Do not attach a used BZL to other clamps.

Flow control will not be made because the bottom depth difference of G thread makes metal seal insufficient.

@ Applicable Products

DBA (Double Action) | DBC (Double Action)

FVA (Double Action) | FVC (Double Action)

FVD (Double Action) | LC (Single Action)

LCW (Single Action)

el . Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Work Support | Work Support
(DBA0250-CC) | (DBC0250-CT)) | (FVA0401) (FVC0630) (FVD1600) | LC0263-CO-0 | LCW0363-C
(DBA0320-CLJ) | (DBC0320-C0)) | (FVA0631) (FVD2500) |LC0303-COC-O| LCW0403-CCI

(FVA1001) LC0363-COO-| LCW0483-C

BZL0101-A LC0403-COO0| LCW0553-CC
LC0483-CO0-0| LCW0653-C

LC0553-CO00
LC0653-COOO

DBA0250-C | DBC0250-CC FVA0401 FVC0630 FVD1600
BZL0101-B | DBA0320-CL] | DBC0320-CLI FVA0631 FVD2500
FVA1001
BZL0201-A (DBA0400-CL) | (DBCO400-CL) (FVC1000) (FVD4000) |LC0753-CO00
(DBA0500-CLJ) | (DBC0500-CLJ) (FVC1600) LC0903-COC-0
DBA0400-CL] | DBC0400-CC FvC1000 FVD4000
BzL0201-8 DBA0500-CL] | DBC0500-CC FVC1600




Control Valve Model No. : . Applicable External {
Digest Indication Spediesdizms Flow Rate Graph [ 4 KOSMEK

Products Dimensions

Harmony in Innovation

@ Applicable Products S
LHA (Double Action) | LHC (Double Action) | LHD (Double Action) | LHE (Double Action) | LHS (Double Action) | LHV (Double Action) | LHW (Double Action) | LT (Single Action) | LG (Single Action) Pneumatic Series
Hedelie Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp
(LHA0360-C -0 (LHCO360-C00-0) | (LHD0400-CC-0) (LHS0360-CTIT1) (LHVO400-CTTE-TT) (LAWO401CTmT) | LT0301-C0-0 | LGO301-CTI-0
(LHA0400-C JCJ-0J) | (LHC0400-C CJ-01) | (LHDO480-CI-CJ) (LHS0400-COC-0J) | (LHV0480-CLIE-C1) | (LHW0481-COC-0)| LT0361-CO-0 | LG0361-CO-0
BZLO101-A |(LHA0480-CICI-C1) | (LHC0480-CIC-0) | (LHDOS50-CCI-00) (LHS0480-COC-0) | (LHV0550-CCIE-0J) | (LHWO0551-CO00) | LTO401-C-0 | LG0401-C-00  Valve/Coupler
(LHAOS50-C YD) (LHC0550-CCI-0) (LHS0550-C00-0) LT0481-C-0] | LGO481-C-0  Hydraulic Unit
LTO551-C-00 | LGO551-C-0J Manual Operation
LHA0360-CCICI-C1 | LHC0360-CCIC-CI | LHDO400-CLJ-CJ | LHE0300-CL] | LHS0360-COC-CJ| LHV0400-CLIE-C0 | LHWO0401-CO0-0 ceaolie
LHA0400-CJ0J-00 | LHC0400-COC-0J | LHD0480-CLI-J | LHE0360-C[J | LHS0400-CC- | LHV0480-CLIE-C] | LHW0481-COC-0 Cautions / Others
BZL0101-B | LHA0480-CICJ-] | LHC0480-COICI-1 | LHDO550-CCI-00 | LHE0400-C[ | LHS0480-CO0-01| LHV0550-COIE-C) | LHWO0551-COC-0
LHA0550-CICI-01 | LHC0550-CO0C-00 LHE0480-C[] | LHS0550-CO0-0
LHE0550-C[] HoleClamp
BZL0201-A (LHA0650-COC-J) | (LHC0650-C OO-00) (LHS0650-COC-) | (LHV0650-CLIE-(J) | (LHWO0651-COC-0) | LT0651-C -0 | LG0651-C -0 zié
(LHA0750-COOC-00) (LHS0750-COC-0) | (LHV0750-COIE-C0) | (LHWO751-COC-0) | LTO751-CO-0 | LGO751-CO-00 )
oz o LHA0650-CICI-1 | LHC0650-COICI-00 LHS0650-COC-0 | LHV0650-CCIE-C] | LHWO0651-CO0-0 %
LHA0750-CICI-00 LHS0750-COC-0 | LHV0750-CIE-C] | LHWO751-CO0-0 Lk
BZL0301-A (LHA0900-CICI-00) (LHS0900-CCHD) LG0901-C-00 LHS
(LHA1050-COO0-00) (LHS1050-COC-0) LG1051-CO-00 LHW
LHA0900-CIC-I LHS0900-COC-0 JLent
BZL0301-B TLA-2
LHA1050-CO0-00 LHS1050-CO0-0 o
TLA-1
Model No. LGV.(SingIe Action) LKA (Double Action) LK.C (Double Action) | LKE (Double Action) LK!((DoubIe Action) LKY (Double Action) LKW (Double Action) LM (Single Action) | LJ (Single Action) Link Clamp
Swing Clamp | Link Clamp | Link Clamp | High-PowerLinkClamp | Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp LKA
LGV0400-C ] |(LKA0360-COC-0) | (LKC0400-C-0)|  LKE0300-CO | (LKK0360-C-CJ) | (LKV0400-CCIE-CD) | (LKW0401-COC-0) | LM0300-C | LJ0302-CLJ LKC
LGV0480-C ] |(LKA0400-COC-0) | (LKC0480-C-0)|  LKE0360-CO | (LKKO400-C-CJ) | (LKV0480-CLIE-CD) | (LKW0481-COC-0) | LM0360-C | LJ0362-C[J LKW
BZL0101-A |LGV0550-CLICT |(LKA0480-CLI-0) (LKC0550-C-0)|  LKE0400-CLJ | (LKKO0480-C-[J) | (LKV0550-COE-CJ) | (LKW0551-COC-0) | LMO0400-C | LJ0402-CO #:\2 ;Mz
(LKA0550-C ) LKE0480-C | (LKK0550-C-[1) LM0480-CL0 | LJ0482-CO IMAT
LKE0550-C[] LM0550-C0 | LJ0552-CO) D
LKA0360-CIC-0 | LKC0400-CI-0 LKK0360-C-[ | LKV0400-CLIE-[] | LKW0401-COC-O0 %
BZL0101-8 LKA0400-CL-0 | LKC0480-CL-0 LKK0400-C-[ | LKV0480-CLIE-[] | LKW0481-COC-0 i
LKA0480-CLI-0 | LKC0550-CL-0 LKK0480-C-[1 | LKV0550-CLIE-[] | LKW0551-COC-0 TNC
LKA0550-COC-0 LKK0550-C-(] LS
BZL0201-A LGV0650-CIT |(LKA0650-COC-0) (LKC0650-C ) (LKK0650-C-[J) | (LKV0650-CLIE-CD) | (LKW0651-COC-0) | LM0650-CLI | LJ0652-COI ﬁifrt SCenrsi zg
LGV0750-C 00 |(LKAO750-C0C-0) (LKVO750-CE-C) | (LKWO751-CO00) | LMO750-CO | LJ0752-CO0 #
LKA0650-CLI- | LKC0650-CL-O0 LKK0650-C-1 | LKV0650-CLIE-[T | LKW0651-COC-0
BZL0201-B Linear Cylinder /
LKA0750-CC-0 LKV0750-CCIE-(] | LKWO751-CO0-0 Compa({ Cylinder
BZL0301-A (LKA0900-C ) LJ0902-C[] T
(LKA1050-COC-0) LJ1052-CJ LLR
BZL0301-6 LKA0900-CI-0 LDLPU
LKA1050-COC-0 oR
DS
Model No. LJV (Single Action) | LFW (Double Action) | LFA (Double Action) | LSA (Double Action) | LSE (Double Action) | LL (Double Action) | LLR (Double Action) | LLV (Double Action) | LLW (Double Action) DT
Link Clamp | Link Clamp | Link Clamp | Side Clamp | High-PowerSideClamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder Block Cylinder
LJV0400-COC | (LFWO0480-COJ) | (LFA0480-COD)) | (LSA0360-C-(J)| LSE0360-C-J | (LL0360-C-CJ) |(LLRO360-COC-O-0)| (LLV0360-CCIE-CD) | (LLWO361-COC-D)  — pga/DBC
LJV0480-CO0 | (LFW0550-CC1J) | (LFA0550-CO0) (LL0400-COO-C1) |(LLRO400-COT-0-0)| (LLV0400-CIE-DI) | (LLW0401CCIC-0)
BZL0101-A Centering Vise
LJvo550-CO0 (LL0480-COT-0I) |(LLRO480-CCO-C-0) | (LLV0480-CTIE-0J) | (LLW0481-CO-D) VA
(LL0550-C-0) |(LLROSS0-CCC-O0) o
LFW0480-C[1J | LFA0480-COI0 | LSA0360-C-[J LL0360-CO0-0 |LLR0360-COC-C| LLV0360-CLIE-CT | LLW0361-COD-0 FVC
G LFW0550-C00J | LFA0550-CO0 LL0400-COC-0 |LLRO400-COC-CI| LLVO400-CLOE-CD | LLW0401-COD-0
LL0480-COC-0 |LLR0480-COC-0] LLV0480-CLIE-CI | LLW0481-COC-0
LL0550-CO0-0 |LLROSS0-COOHZ-O BZT
BZL0201-A LJV0650-CO0 | (LFWO0650-CC1J) | (LFA0650-COC) (LL0650-COOT-) | (LLROG50-CCC-C0) %
LJV0750-CO0 | (LFW0750-CC1J) | (LFA0750-CO0) (LL0750-CC-0) |(LLRO750-COC-00)
BZL0201-8 LFW0650-C[1J | LFA0650-CLI0 LL0650-CO0-0 |LLRO650-COCH-O Pallet f/':/”\‘/PT
LFW0750-C00J | LFA0750-CO0 LL0750-CO00 |LLRO750-COOHZ-O e
BZL0301-A (LL0900-COT-) | (LLRO900-CCC-C0) Ezggg:gg .
(LL1050-CI0-T) [(LLR1050-COT-C-0) TTOVELVEM
BZL0301-8 LL0900-CO0-0 |LLRO900-COCH-O VFJ/VEK
LL1050-CO0-0 |LLR1050-CO0HCZ-O
Pull Stud Clamp
Note: 1. Flow control circuit for double acting cylinder should have meter-out circuits for both the lock and release sides FP
(except model LKE/LSE). Meter-in circuits can be adversely affected by any air in the system. FQ
Customized
Spring Cylinder
DWA/DWB

950



951

Control Valve speed Control Valve (For Low Pressure)

@© Flow Rate Graph <Hydraulic Fluids 1SO-VG32 (25~35°C) >

model BZL

BZL0101-A : Meter-in

Controlled Flow Direction

10
= 8
£
S (Pressure Loss SMPa
U
54 (Pressure Loss 3MPa \//
z e N\
u_C_’ 5 Pressure Loss TMPa /
0 I
0 1 2 3 4

«Closed  Number of Turns of Adjusting Screw  Opened—

BZL0201-A : Meter-in

Controlled Flow Direction

N
o

(%

Pressure Loss 5MPa |
I I I

Pressure Loss 3MPa >/

T
s !
Pressure Loss TMPa 97

/
——

wi

Flow Rate (L/min)
S

0
0 1 2 3 4
«Closed  Number of Turns of Adjusting Screw  Opened—

NN W
o w»n o

—
o v o wn

Flow Rate (L/min)

BZL0301-A : Meter-in

«Closed  Number of Turns of Adjusting Screw  Opened—

Controlled Flow Direction

(Pressure Loss 5MPa
[ 1

\\\LL

[\

N\
P Loss 3MP;

ressure oss_at]/
PressureLosHMP&/
-

0 1 2 3 4

Free Flowing Direction

10 ‘
B 8 Fully Opened
£ (Fully €
S —
7 iq=T
& 4 =
3 X et Fully Closed
[N, P ‘

0

0 1 2 3 4 5 6
Pressure Loss (MPa)

Free Flowing Direction

20
—_ Fully Opened /
= —\/]
€ 15
3 / -
10 // L -
3 L -
z 1--" [Fﬁlly Closed )
o 5 S
s L

/-
0

0 1 2 3 4 5 6
Pressure Loss (MPa)

—

Flow Rate (L/min)

30
25 Fully Opened

N
o

o v o »
N
.

Free Flowing Direction

- =T

/ e

\

-7 [rulyclosed)

0 1 2 3 4 5 6
Pressure Loss (MPa)

BZL0101-B : Meter-out

Controlled Flow Direction

10
< 8
£
36 ['Pressure Loss 5MPa
i)
é 4 (Pressure LossﬂP%J ;//
5 2 ﬁressureLoss]MPa P /
[ ,_4/

0

0 1 2 3 4

«Closed  Number of Turns of Adjusting Screw  Opened—

BZL0201-B : Meter-out

Controlled Flow Direction

N
o

—
v

Flow Rate (L/min)
)

((Pressure Loss 5MPa

Pressure Loss 3MPa >//
I \ /

5 Pressure Loss 1MPa 7
—
=
00 1 2 3 4

«Closed  Number of Turns of Adjusting Screw  Opened—

BZL0301-B : Meter-out

30
~25
£
£
g20 Pressure Loss E»MPTaT7Z
g15
T Pressure Loss 3MPa /
£ (Presre oss W] | 34
u_o_ s Pressure Loss 1MPi] _— /
/’-—
0
0 1 2 3 4

Controlled Flow Direction

«Closed  Number of Turns of Adjusting Screw  Opened—

Free Flowing Direction

10
=8
§ 6 [Fully Open?ld_] /
e b I.--
&4 B
_% 5 /// . Fully Closed
[V ’4

0
0 1 2 3 4 5 6

Pressure Loss (MPa)

Free Flowing Direction

20 /
.’g]S { Fully Opened '/
£ T .
210 AT et
© -
u; .- - Fully Closed
o 5 e
[V A -

0

Pressure Loss (MPa)

N
w

- N
o v o un o
3

Flow Rate (L/min)

w
o

Free Flowing Direction

(Fully Opened | |~

/ o
,/ ‘x‘"
/,"' [FLIIyCIosed

/.

PG

0 1 2 3 4 5 6
Pressure Loss (MPa)




Control Valve
Digest

Model

Indication

No. Specifi

@ External Dimensions

(Clamp/Cylinder)

cations

Applicable
Products

Flow Rate Graph

External
Dimensions

([ K@SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

M Screw
Exclusive Packing G Thread Valve /Coupler
(Included) Hydraulic Unit
o ) Manual Operation
/—V’ “—‘ Accessories
w g :: \ / @ é %2 Port Cautions / Others
HecSodetL —{|L_D | Y Clamp Side
Hole Clamp
1
ckE 3k ,_)é% SFA
¢ SFC
Hexagon K max.H D / T ] )
Hexagon A max.C F Swing Clamp
P1 Port LHA
Hydraulic Pressure LHC
Supply Side (mm) LHS
Model No. BZLO101-C] | BZLO201-CJ | BZL0301-C] tz/V{T
A 14 18 22 TLA-2
© Machining Dimensions of Mounting Area E 122 2 5 TLB-2
C 15 16 19 TLA-1
D 12 13 16 Link Clamp
7 N-o10 E 8.5 9.5 1 LKA
01 ] U Thread min.P F (11.6) (15.1) (17.6) LKC
0112 (Prepared Hole @ T - G G1/8 Gl/4 G3/8 LKW
Flat Bottom) S P2 Port H 5 E 5 LJ/LM
\ < Clamp Side TMA-2
J 35 35 5 TMA-1
0.2 K 10 10 13 Work Support
% g — = L 3 3 4 LD
gl 3 e -, M (Nominal X Pitch) M6X0.75 M6%0.75 M8x0.75 LC
E| E /‘\"Q 0.4 N 115 15 17.5 IEC
i P 85 11%1 13
K Q g s ER )
2 bV P1 Port R (Flat Surface Area) 16 20.5 245 T,
o Hydraulic Pressure S 10 135 17 ) )
Supply Side Linear Cylwnd‘er/
Q T 8.7 1.5 15 Compact Cylinder
U G1/8 G1/4 G3/8 LL
\% 2~3 3~4 4~5 LLR
LLU
w 25~5 35~7 45~9 o
Notes : g?
1. Sincethe V' Rz63 areais sealing part, be careful not to damage it. oT

o~ w N

@© Notes

1. Please read "Notes on Hydraulic Cylinder Speed Control Unit" for proper hydraulic circuit design.

Improper circuit design may lead to malfunctions and damages. (Refer to P.1356)

2. Itis dangerous to release the air under high pressure. It must be done under lower pressure.

(For reference : the minimum operating range of the product within the circuit.)

. Since the V/Rz 125 area is the metal sealing part of BZL, be careful not to damage it. (Especially when deburring)
. No cutting chips or burr should be at the tolerance part of machining hole.
. As shown in the drawing, P1 port is used as the hydraulic supply side and P2 port as the clamp side.
. If mounting plugs or fittings with G thread specification available in the market, the dimension '3 1" should be 12.5.

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZL
BZT
BZX/)ZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

952



Control Valve AirBleed Valve

@© Model No. Indication (Air Bleed Valve)

BZXOO
0
(12|

G Thread Size

model BZX

1 : Thread Part G1/8A Thread

2 Thread Part G1/4A Thread
Thread Part
3 Thread Part G3/8A Thread
Design No.
0 : Revision Number

© Specifications

Model No. BZX010 |  BZX020 | BZX030
Max. Operating Pressure MPa 35

Withstanding Pressure MPa 42

G Thread Size GI/SA | GIAA | G3/8A
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature °C 0~70

Tightening Torque for Main Body N-m 10 25 35
Weight g 12 23 36
Notes: 1. Do not over-loosen the plug during air venting.

(Do not loosen further than 2 turns from the fully closed position.)
2. Air bleeding under high pressure is dangerous. It must be done under lower pressure.
(For reference : the minimum operation pressure range of the product within the circuit)
3. Refer to the machining dimensions of BZL mounting area when installing BZX into a hydraulic circuit.

© Applicable Products

® Circuit Symbol

Model No. DBA (Double. Action) | DBC (Double. Action) | FVA (Dm.Jble Act.ion) FvC (Do9ble Act.ion) FVD (Dogb\e Act.ion) LC (Single Action) | LCW (Single Action) | TC (Single Action)
Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Work Support | Work Support | Work Support
DBA0250-CLJ | DBC0250-CO FVA0401 FVC0630 FVD1600 | LC0263-CCH0 | LCW0363-CCJ | TC0403-CC-C-0
DBA0320-CL] | DBC0320-CO FVA0631 FVD2500 | LC0303-COC-0 | LCWO0403-COI | TC0483-CC-C-C

FVA1001 LC0363-COI0 | LCW0483-COI | TC0553-C-00
BZX010 LC0403-COIO | LCWO0553-CO | TC0653-C-00
LC0483-COI0 | LCWO0653-CI | TC0753-C-0-00

LC0553-CO00

LC0653-CO0-0

DBA0400-C[J | DBC0400-Cl FvVC1000 FVD4000 | LCO753-COCD

BZX020 DBA0500-C[J | DBC0500-CL FVC1600 LC0903-CO00

955




Control Valve
Digest P.947

Model No. Indication

@© Applicable Products

Specifications

Applicable Products

External Dimensions

([ K@SMEK

Harmony in Innovation

High-Power
Series

Model N LHA (Double Action) | LHC (Double Action) | LHD (Double Action) | LHE (Double Action) | LHS (Double Action) | LHV (Double Action) | LHW (Double Action) | LT (Single Action) | LG (Single Action) Pneumatic Series
odel o Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp
LHA0360-C -0 |LHC0360-COC-0 | LHD0400-CC-[1 | LHE0300-CC | LHS0360-COC-0 | LHV0400-CLIE-CI | LHW0401-COO-0 | LTO301-CC-0 | LG0301-CO-0
LHA0400-COC-J LHC0400-COC-0 | LHD0480-C[J-0J |  LHE0360-CLI | LHS0400-COC-(J | LHV0480-CLIE-[] | LHW0481-COC-0 | LT0361-CC-0 | LG0361-CO-0
BZX010  |LHA0480-CC-0|LHC0480-COC-0| LHD0550-COJ-C0 |  LHE0400-CO | LHS0480-CC- | LHV0550-CLIE-C] | LHW0551-COC-0 | LT0401-CO-0 | LGO401-CO-0 Valve / Coupler
LHA0550-CO0-0 | LHC0550-C 000 LHE0480-C) | LHS0550-C00-0 LT0481-C0-0 | LGO481-C-  Hvdraulic Unit
LHE0550-C[] LTO551-C0-00 | LGO551-CC-0J Manual Operation
BZX020 LHA0650-C0-0 | LHC0650-C - LHS0650-COC- | LHV0650-CLIE-C0 | LHW0651-CLC-0 | LTO651-CO-00 | LGO651-CC-0J ceaolie
LHA0750-C00 LHS0750-CO0-0 | LHV0750-CLIE-C0 | LHWO0751-COC-0 | LT0751-CO-0 | LGO751-CO-0 Cautions / Others
BZX030 LHA0900-C-0 LHS0900-COC-0 LG0901-C-0
LHA1050-CIC-0 LHS1050-COC- LG1051-CC-0)
Hole Clamp
LGV (Single Action) SFA
Model No. Swing Clamp SFC
LGV0400-CO0 Swing Clamp
LGV0480-C0 LHA
BZX010  |LGV0550-C0 LHC
LHS
LHW
LG/LT
LGV0650-C0 TLA-2
BZX020
LGV0750-C00 TLB-2
TLA-1
BZX030 Link Clamp
LKA
Model N LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKK (Double Action) | LKV (Double Action) | LKW (Double Action)| LM (Single Action) | LJ (Single Action) | LJV/ (Single Action) LKC
odetNo. Link Clamp | Link Clamp | High-PowerLink Clamp | Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp LKW
LKA0360-CL-0 | LKCO400-CL-0 | LKE0300-CO | LKK0360-C- | LKV0400-CLIE-(] | LKWO0401-COC-0 | LM0300-CO | LJ0302-CO | LJV0400-C0 #:\; /Liﬂz
LKA0400-CL-0 | LKC0480-CL-0 | LKE0360-CLI | LKK0400-C-[1 | LKV0480-CLIE-(] | LKW0481-COI-0 | LM0360-CO | LJ0362-CO | LJV0480-CO0 TMAT
BZX010 | LKA0480-CO- | LKCO550-CC-0 | LKE0400-COI | LKKO0480-C-[] | LKV0550-CLIE-[] | LKW0551-COC-0 | LM0400-CO | LJ0402-CO | LJV0550-C0 Works .
or u or
LKA0550-CI-] LKE0480-CJ | LKKO0550-C-(J LM0480-CJ | LJ0482-Cl +
LKE0550-CJ LMO0550-C[0 | LJ0552-C[J Lc
BZX020 LKA0650-CLI-0 | LKC0650-CL-0 LKK0650-C-1 | LKV0650-CLIE-[] | LKWO0651-COC-0 | LM0650-CO | LJ0652-CO | LIV0650-C0 TNC
LKA0750-CIC-0 LKV0750-CCIE-C | LKWO0751-COC-0 | LMO750-CO | LJ0752-CO | LIVO750-CO0 TC
LKA0900-CLIC- LJ0902-C Air Sensing
BZX030 ift Cyli
LKA1050-C00-0 LJ1052-CL] Lift Cylinder
LLW
Model N LFW (Double Action) | LFA (Double Action) | LSA (Double Action) | LSE (Double Action) | LL (Double Action) | LLR (Double Action) | LLV/(Double Action) | LLW (Double Action) | TTA (Double Action) | ;1.5 Cylinder /
OAEINO- | ink Clamp | LinkClamp | Side Clamp |High-PowerSide Clamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder | Linear Cylinder ~ Compact Cylinder
LFW0480-C00J | LFA0480-COC | LSA0360-C-CJ | LSE0360-C-[J | LL0360-COIC-0 |LLRO360-COO-C-0 | LLV0360-CLIE-C) | LLW0361-CC-0 | TTA0360-CC-O0 ttR
B2X010 LFW0550-C00J | LFA0550-COC LL0400-COC-0 |LLRO400-COC-CHI | LLV0400-CLIE-C0 | LLW0401-COC-0 | TTA0400-CC-0 L
LL0480-COC-0 |LLRO480-COC-C-I | LLV0480-CLIE-0I | LLW0481-COC-0 | TTA0480-CC-0 DP
LL0550-COC-0 |LLRO5S0-COCIO TTA0550-CC-0) DR
S LFW0650-C00J | LFA0650-COC LL0650-COC-0 |LLRO6S0-COCHIO TTA0650-C-01 DS
LFW0750-C00J | LFA0750-CO0 LL0750-COC-0 |LLRO750-COC-0 ot
BZX030 LL0900-COT-0  |LLR0900-COCHI-] Block Cylinder
LL1050-C00-0 LLR1050-CCC0 DBA/DEC
Centering Vise
. . FVA
© External Dimensions o
Exclusive Packing (Included) Fvc
Body (Clamp / Cylinder)
Lock Nut Plug :;#
X Bzt
M6 (3 types) M6 17 G Thread )
\ Model No. BZX010 BZX020 BZX030 P
Q% A 14 18 22 Pallet Clamp
©) s B B 155 20 24 VSIVT
t C 19.8 20.6 20.6 Expansion
=g Locating Pin
; D 9.3 10.1 10.1 VELVEM
36 | @l E 55 6.3 6.3 VFJ/VFK
Hoxsoge e | G G1/8 Gl/4 G3/8 s o
Hexagon 10 D 10.5 Fp

Hexagon A

FQ

Customized
Spring Cylinder

DWA/DWB

956



Control Valve GThreadPlug

© Model No. Indication (G Thread Plug with Air Bleeding Function) PAT.

JZGOO
0
(12|

G Thread Size

model JZG

1 : Thread Part G1/8A Thread

2 Thread Part G1/4A Thread
Thread Part
3  : Thread Part G3/8A Thread
Design No.
0 : Revision Number

© Specifications

Model No. JzGolo | JzGo20 | JZG030
Max. Operating Pressure MPa 35

Withstanding Pressure MPa 42

G Thread Size G1/8A ‘ G1/4A ‘ G3/8A
Usable Fluid General Hydraulic Oil Equivalent to 1SO-VG-32
Operating Temperature °C 0~70

Tightening Torque | Female Thread Side Material : Steel 10 25 35
for Main Body N-m | Female Thread Side Material : Aluminum (For LT/LM*1) 8 20 28
Weight g 7 15 23
Notes: 1. Air bleeding under high pressure is dangerous. It must be done under lower pressure.

(For reference : the minimum operation pressure range of the product within the circuit)
2. Refer to the machining dimensions of BZL mounting area when installing JZG into a hydraulic circuit.
% 1. Body material of LT/LM is aluminum alloy, so install it with the tightening torque for aluminum.

@© Applicable Products

Model No. LHA (Double Action) LHC. (Double Action) LHQ (Double Action) | LHE (Double Action) LHS.(DoubIe Action) LHY (Double Action) LHW (Double Action) | LT %Sing\e Action) | LG .(Single Action)
Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp
LHA0360-COC-0| LHC0360-C - | LHD0400-CLJ-[J | LHE0300-C[J | LHS0360-CHOC-0| LHV0400-CCIE-[] | LHW0401-COC-J | LTO301-CL-J | LGO301-C-0J
LHA0400-C-0| LHC0400-COC-0| LHD0480-C-[1 | LHE0360-C[] | LHS0400-CLC-0| LHV0480-CCIE-C] | LHW0481-COC-0 | LTO361-CC-00 | LG0361-CO-0)

JZG010  |LHA0480-COC-0| LHC0480-COC-0| LHDO550-CC-[] | LHEQ400-C | LHS0480-COC-0 | LHV0550-CE-C] | LHW0551-CO0-0 | LTO401-CC-00 | LGO401-CC-0
LHA0550-COC-0| LHC0550-COC-0 LHE0480-C[] | LHS0550-CO-0 LT0481-C0-0 | LG0481-C-0)
LHE0550-C[] LTO551-C0-0 | LGO551-C-0

126020 LHA0650-C -0 | LHC0650-C -0 LHS0650-CC-0| LHV0650-CLIE-C] | LHWO0651-COC-C | LTO651-CC-00 | LG0651-CO-C
LHA0750-COC-0 LHS0750-C 00| LHV0750-CIE-C1 | LHWO751-COC-0 | LT0751-CO-0 | LGO751-CO-00

126030 LHA0900-COC-0 LHS0900-C-0 LG0901-CO-J
LHA1050-COC-0 LHS1050-CC0-0 LG1051-C-0

Model No. LGV (Single Action) | DBA (Double Action) | DBC (Double Action) | FVA (Double Action) | FVC (Double Action) | FVD (Double Action) | LC (Single Action) | LCW (Single Action) | TC (Single Action)
Swing Clamp | Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Work Support | Work Support | Work Support
LGV0400-CO| DBA0250-C0 | DBC0250-CO FVA0401 FVC0630 FVD1600 LC0263-C-0 | LCW0363-COT | TC0403-CO-C-0
LGV0480-CIJ| DBA0320-CO | DBC0320-CO FVA0631 FVD2500 LC0303-COC-0 | LCW0403-CLI | TC0483-CL-C-0
LGV0550-C0 FVA1001 LC0363-CO-0 | LCWO0483-C[] | TC0553-C--0

JZG010 LC0403-COI0 | LCWO553-C | TC0653-C-C-01
LC0483-CO0-0 | LCWO0653-CCI | TC0753-C-0-0
LC0553-CO00
LC0653-C0-0
126020 LGV0650-C, DBA0400-COI | DBC0400-CD FVC1000 FVD4000 | LCO753-COC-0
LGV0750-C0 DBA0500-CO | DBC0500-CO FVC1600 LC0903-CO00

957



Control Valve
Digest P.947

Model No. Indication

@ Applicable Products

Specifications

Applicable Products

External Dimensions

(Y xKeSMEK

Harmony in Innovation

Model No. LKA (Double Action) LKF (Double Action) | LKE (Double Action) LK!( (Double Action) LKY (Double Action) LKW (Double Action) LM (Single Action) LJA(SingIe Action) LJY(SingIe Action)
Link Clamp | Link Clamp | High-PowerLink Clamp | Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp
LKA0360-CO0-| LKC0400-C-0 | LKE0300-CL | LKKO0360-C-CJ | LKV0400-CCIE-C] | LKWO0401-COC-0 | LM0300-C | LJ0302-CLI | LJV0400-COC
LKA0400-CO0-0| LKC0480-C-0 | LKE0360-CLI | LKKO0400-C-CJ | LKV0480-CCIE-C] | LKW0481-COC-0 | LM0360-C | LJ0362-COI | LIV0480-COO
JZG010  |LKA0480-COC-C| LKC0O550-C- | LKE0400-C | LKK0480-C-[1 | LKV0550-CCIE-(T | LKW0551-CC-0| LM0400-CC | LJ0402-CO | LJVO550-COI0
LKA0550-C0-0 LKE0480-C0 | LKK0550-C-[J LM0480-CJ | LJ0482-Cl
LKE0550-C[] LM0550-CJ | LJ0552-C
126020 LKA0650-CO0-0| LKC0650-C-0 LKK0650-C-C] | LKV0650-CIE-[1 | LKWO0651-COC-0 | LM0650-C | LJ0652-C00 | LIV0650-CO0
LKA0750-CI0-0 LKV0750-COIE-(] | LKW0751-COC-0 | LM0750-CO | LJ0752-C0O0 | LIVO750-CO0
126030 LKA0900-C-0 LJ0902-C[J
LKA1050-C0-0 LJ1052-C[J
Model No. TLA?1 (Single Action) TLATZ (Double Action) TLB—.2 (Double Action) TLV-.2 (Double Action) TMA-] (Double Action) TM{\-Z (Double Action) TMY-Z (Double Action)
Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Link Clamp | Link Clamp | Link Clamp
TLA0402-1C | TLA0401-2C[-0 | TLB0401-2C -1 | TLV0800-2CLII | TMA0250-1C | TMA0250-2C [ | TMV0400-2CICI
TLA0602-1C0 | TLA0601-2CC- | TLB0601-2C -0 | TLV1000-2CCIC) | TMA0400-1CLI | TMA0400-2C LI | TMV0600-2CCIC1
JzGo10 TLA0802-1C0 | TLA0801-2CL- | TLB0801-2C -0 | TLV1600-2CLIC) | TMA0600-1CLI | TMA0600-2C I | TMV1000-2CCIC
TLA1002-1C0 | TLA1001-2C -0 | TLB1001-2C -0 TMA1000-1C0J | TMA1000-2C[J
TLA1602-1C0 | TLA1601-2C[-0 | TLB1601-2C-0
TLA2002-1C0 | TLA2001-2CC- | TLB2001-2C -0 | TLV2000-2CCIC | TMA1600-1CL | TMA1600-2C L | TMV1600-2CCI00
J2G020 TLA2502-1C0 | TLA2501-2CC-0 | TLB2501-2C-0 TMA2500-1C0 | TMA2500-2C0
TLA4002-1C00 | TLA4001-2C -0 | TLB4001-2C-0 TMA3200-1C[J | TMA3200-2C[]J
Model No. LFA (Double Action) LFW (Double Action) LSA (Double Action) | LSE (Double Action) ITL (Double /?ction) LlTR (Double.ActIon) LLY (DoubIAe Action) LLW (Doub}e Action) TTA (Double‘Action)
Link Clamp | Link Clamp | Side Clamp | High-PowerSide Clamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder | Linear Cylinder
LFA0480-CJC | LFW0480-C[0J | LSA0360-C-[J | LSE0360-C-] | LLO360-CLIC-I |LLRO360-COC-C-0| LLV0360-COIE-C] | LLW0361-COC-0 | TTA0360-CC-J
LFA0550-CO0 | LFW0550-CJ LL0400-COC-0 |LLRO400-COC-C-I| LLV0400-CLIE-OI | LLWO401-COC-0 | TTA0400-CL-0
JZGo10 LL0480-COC-0 |LLR0480-COT-C-J| LLV0480-CLIE-CI | LLWO0481-COC-0 | TTA0480-CL-[
LL0550-COC-0 |LLRO550-CO0-0-0 TTA0550-CO-00
LFA0650-CO0 | LFW0650-CL1J LL0650-COC-0 |LLRO650-COD-CI TTA0650-C-0
J2G020 LFA0750-CO0 | LFW0750-CJ LL0750-COC-0 |LLRO750-CO0-00
LL0900-COC-0 |LLRO900-COT-C-O
126030 LL1050-COC-0 |LLR1050-COC-C-0
@ External Dimensions
Exclusive Packing
R (Included) (mm)
—F Model No. JZ2Go10 JZ2G020 JZG030
b A 14 18 22
3 £ B 35 45 45
5 C 8 9 10
D 5 6 8
Hex.Socket D G G1/8A G1/4A G3/8A

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC
Air Sensing
Lift Cylinder
LLW
Linear Cylinder /

Compact Cylinder
LL

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZL
BZT

BZX/JZG

BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

958



959

Direct-Mount Sequence Valve

PAT.P.

Direct-Mount Sequence Valve

Model BZS

model BZS

Attaches directly into Kosmek hydraulic clamps G-thread piping option.

Easily and securely controls the operating sequence of actuators.

© Model No. Indication

BZS 0 10

0

G Thread Size

0

B

10 : G1/8AThread
20 : G1/4AThread
30 : G3/8AThread

Design No.

Thread Part

0 : Revision Number

© Specifications
Model No. BZS0100 BZ50200 BZS0300
Sequence Operating Pressure Adjustable Range  MPa 1.0~6.0
Operating Pressure Range MPa 20~7.0
Withstanding Pressure MPa 10.5
G Thread Size G1/8A G1/4A G3/8A
Cracking Pressure MPa 0.03
Adjusting Screw Turn Ratio: Reference MPa/Rev 1.5 1.3 1.1
Min. Passage Area P1— P2 2.0 5.7 8.5
mm2 | P2 — P1 2.0 5.0 8.2

Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature °C 0~70

Tightening Torque N-m 10 25 35
Weight g 35 82 155

Notes: 1. Please mount to an actuator using Hex. E shown in External Dimensions on P.961A with the tightening torque shown in the list above.

Insufficient or excessive tightening torque leads to malfunction.

2. Do not attach a used BZS to other clamps.
Sequence movement may not be done because the bottom depth difference of G thread makes metal sealing insufficient.
3. The difference between the set pressure and the supplying pressure should be TMPa or more.
4. For using multiple sequence valves to operate cylinders in sequence, the difference of each set pressure should be TMPa or more.
5. Depending on circuit system (actuator capacity, hydraulic pipe diameter, passage length, etc.), sometimes it is necessary
to reduce hydraulic flow rate to achieve proper sequence movement. Make sure you are able to control flow rate.
(Since BZS is directly mounted on and used exclusively for one actuator, it is easily affected by hydraulic flow rate.)
6. Filter is not built in this product. Please note that contaminants such as cutting chips and sealing tapes entering into the product
cause malfunction. Also when internal parts are damaged, it will not operate properly even after removing contaminants.

@© Circuit Symbol

P1 Port

P2 Port

Hyd. Pressure
Supply Side

=

% No built-in filter provided.

Clamp Side

e What is a Sequence Valve?

The sequence valve controls the clamping and positioning sequence
of multiple actuators.

When the incoming side pressure (P1 port) reaches the sequence setting
pressure value, the pressure will be supplied to the outgoing side (P2 port).
Refer to P.961B for the action description.



Control Valve
Digest P.947

Model

No. Indication

@ Applicable Products

Specifications

Applicable Products

External Dimensions

Accessories

([ K@SMEK

Harmony in Innovation

DBA (Double Action)

DBC (Double Action)

FVA (Double Action)

FVC (Double Action)

FVD (Double Action)

LHA (Double Action)

LHC (Double Action)

LHD (Double Action)

LHE (Double Action)

fleelie Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp
DBA0250-CT | DBC0250-CO FVA0401 FVC0630 FVD1600 |LHA0360-COC-0|LHC0360-COC-0| LHD0400-CC-[1 | LHE0300-CO
DBA0320-C0 | DBC0320-CO FVA0631 FVD2500 | LHA0400-CC-|LHC0400-COC-C| LHD0480-CLI-[1 | LHE0360-CLI
BZS0100 FVA1001 LHA0480-C-0J| LHC0480-COC-0| LHD0550-CC-[J | LHE0400-CO
LHA0550-C -0/ LHC0550-COC-0 LHE0480-CO
LHE0550-C[]
DBA0400-C[J | DBC0400-C FVC1000 FVD4000  |LHA0650-C[C-0|LHC0650-C OO0
BZ50200 DBA0500-C) | DBC0500-CO FVC1600%! LHA0750-CO0-0
BZ50300 LHA0900-CL-0
LHA1050-COO00
Model No. LHS (Double Action) LHY (Double Action) LHW (Double Action)| LT {Single Action) | LG FSingIe Action) LGY(SingIe Action) LKA (Double Action) LKF (Double Action) | LKE (Double Action)
Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Link Clamp | Link Clamp | High-Power Link Clamp
LHS0360-COC-J | LHV0400-CLIE-CJ | LHWO0401-COC-0 | LTO301-CO-C0 | LGO301-CC-0 | LGV0400-CL | LKA0360-CLCHI | LKC0400-CC-0 | LKE0300-CLI
LHS0400-COC-0 | LHV0480-CLIE-0) | LHWO0481-COC-0 | LT0361-CO-0 | LG0361-CO-0) |LGV0480-CL | LKA0400-COC- | LKC0480-CTH0 | LKE0360-CL
BZS0100 | LHS0480-COC- | LHV0550-COIE-CJ | LHWO0551-COC-0 | LTO401-CC-0 | LGO401-CO-0 | LGV0550-CO | LKA0480-COCH | LKCO550-CI-0 | LKE0400-CO
LHS0550-CO0-0 LT0481-CC-0 | LG0481-CO-0 LKA0550-CI-0 LKE0480-C[]
LTO551-C0-00 | LGO551-CC-0J LKE0550-C[J
BZ50200 LHS0650-COC-0 | LHV0650-COIE-C | LHWO0651-COC-0 | LT0651-CO-0 | LG0651-CO-0 |LGV0650-COC | LKA0650-COC-0 | LKC0650-CH0
LHS0750-COC-0 | LHV0750-COIE-0) | LHWO751-COC-0 | LT0751-CO-0 | LGO751-CO-0) |LGV0750-CO0 | LKA0750-COC-0
LHS0900-COC-0 LG0901-CC-0 LKA0900-CI-0
BZS0300
LHS1050-CO0-0 LG1051-CO-0 LKA1050-CCC-0
Model No. LK!((DoubIeAction) LKY (Double Action) LKW (Double Action) LM (Single Action) LJA(SingIe Action) LJY(SingIe Action)
Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp
LKK0360-C-C] | LKV0400-CCIE-(J | LKW0401-COC-0 | LM0300-CO | LJ0302-CO | LJV0400-COOd
LKK0400-C-[J | LKV0480-CLIE-[] | LKW0481-COC- | LM0360-CO | LJ0362-CO | LJV0480-C0
BZS0100 | LKK0480-C-[] | LKV0550-CCIE-[J | LKW0551-COC-0 | LM0400-CO | LJ0402-CO | LJV0550-CO0
LKK0550-C-CJ LM0480-CL0 | LJ0482-COI
LM0550-C0 | LJ0552-COJ
BZ50200 LKK0650-C-C | LKV0650-CLIE-[] | LKWO0651-COC-C | LM0650-CO | LJ0652-CO | LIV0650-C0
LKV0750-COIE-[] | LKW0751-COC0-0 | LMO750-CO | LJ0752-CO0 | LJV0O750-CO0
BZ50300 1J0902-C[J
LJ1052-C0J
Model No. LFW (Double Action) | LFA (Double Action) | LSA (Double Action) | LSE (Double Action) | LL (Double Action) | LLR (Double Action) | LLV (Double Action) | LLW (Double Action)
Link Clamp | Link Clamp | Side Clamp |High-PowerSide Clamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder
LFW0480-C[1J | LFA0480-COO0 | LSA0360-C-C] | LSE0360-C-(1 | LLO360-CLI0-0 |LLR0360-COC-0-0| LLV0360-COIE-CI | LLWO0361-CO0-0
LFW0550-C00J | LFA0550-COC LL0400-COC-0 |LLRO400-COCHI-C| LLV0400-CIE-C | LLWO401-COIC-0
BZS0100 LL0480-COC-0 |LLR0480-COI-C-| LLV0480-CLIE-CT | LLW0481-COC-0
LL0550-CO0-0 |LLRO5S0-COCHC-O
BZ50200 LFW0650-C00J | LFA0650-COC LL0650-CO0-0 |LLRO6S0-COCH-O
LFW0750-C0lJ | LFA0750-CO LL0750-CO0-0 |LLRO750-COOHI-O
BZ50300 LL0900-CO0-0 |LLRO900-COCH-O
LL1050-COC-0 |LLR1050-COT-C-0

Note: 1. Itis not possible to install two BZS valves to FVC1000.

[In case of Work Support]

For using Direct-Mount Sequence Valve for Work Support (Model:LC*), mount Speed Control Valve (Model :BZL[__1-A) on Work Support and
mount Direct-Mount Sequence Valve on the Manifold Block as shown in the drawing below.
Please refer to P.962A for Manifold Block (Model:LZ[1-BZS).

% Please contact us when considering the installation to model LCW.

1

Work Support (Model:LC*)

Speed Control Valve (Model:BZL[1-A)

=
©

L

Direct-Mount Sequence Valve

Manifold Block (Model:LZ[1-BZS)

T N———T

/.\/,\

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Linear Cylinder /
Compact Cylinder

LL

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZL

BZT

BZX/JZG
Pallet Clamp

VS/VT
Expansion
Locating Pin

VFL/VEM

VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

960



Direct-Mount Sequence Valve

@ External Dimensions

Hex. Socket M

Sequence Pressure Adjusting Hex.

Setting Scale
(Reference)

(Set Screw for Anti-Rotation)

(Tmm per Turn)

Scale Matching __,
Surface _._
/

6MPa
4MPa ——
2MPa——

=t

model BZS

oec. | inc o . P2Port
ICE s T - Clamp Side
BZS0C100 »
KOSMEK >  *
N
Adjustable Range¢1
Hex. A P1 Port
Hyd. Pressure
Supply Side
(mm)
Model No. BZ50100 BZ50200 BZ50300
A 16 2 27
© Machining Dimensions of Mounting Area B 17.5 2 295
C 305 39 495
Attention D 75 12 15
> N-510 E 14 18 2
U Thread min P F 155 20 24
Z (Prepared Hole ¢ T G G1/8 G1/4 G3/8
Flat Bottom) N P2 Port H 13.8 20 24
\ = Clamp Side )32 (11.6) (15.1) (17.6)
K (26.5) (34) (44)
03 L 95 12,5 15
= 2 M 13 13 15
A
2 25 2 N 15 15 175
g £ an P 85 11%3 13
/\“ 0.4 Q 9 15 13
R (Flat Surface Area) 16 20.5 24.5
‘ S 10 135 17
- oy P1 Port T 87 115 15
5 L—> Hyd. Pressure U G1/8 G1/4 G3/8
Q Supply Side v 2~3 3~4 4~5
w 25~5 35~7 45~9
Notes:

1. Since the ¥/ Rz 6.3 area is sealing part, be careful not to damage it.

2. Since the ¥Rz 125 area is the metal sealing part at the edge of BZS, be careful not to damage it (especially when deburring).

3. No cutting chips or burr should be at the tolerance part of machining hole.

4. As shown in the drawing, P1 port is used as the hydraulic supply and P2 port as the clamp side.
% 1. Use the sequence pressure adjusting hex. within the adjustable range of 32 (the dimensions K~C in the above).

Please note that if it is loosened further than max. C, pressure adjusting hex. part and internal spring will come off.

%2. Dimension when mounted. (+0.5mm before mounted.)

%3. If mounting plugs or fittings with G thread specification available in the market, the dimension '3 3' should be 12.5.

961A



Control Valve

Model No. Indication Specifications Applicable Products | External Dimensions Accessories ( {‘ KKOSMEIK

Digest p.947 Harmony in Innovation

@ Cautions

1. Please design hydraulic circuit properly. Improper circuit design may lead to malfunctions and damages.

2. Filter is not built in this product. Be aware that contaminants such as cutting chips and sealing tapes entering into the product cause
malfunction. Also when internal parts are damaged, it will not operate properly even after removing contaminants.
3. Depending on circuit system (actuator capacity, hydraulic pipe diameter, passage length, etc.), sometimes it is necessary
to reduce hydraulic flow rate to achieve proper sequence movement. Make sure you are able to control flow rate.
(Since BZS is directly mounted on and used exclusively for one actuator, it is easily affected by hydraulic flow rate.)
. The difference between the set pressure and the supplying pressure should be TMPa or more.
. For using multiple sequence valves to operate cylinders in sequence, the difference of each set pressure should be TMPa or more.

. For using multiple sequence valves to operate cylinders simultaneously, adjust them gradually by checking their actions.

N o b~

. Please keep in mind that the minimum passage area of each actuator will be decreased by mounting this product and thus
operating time may become longer.
8. Please mount to an actuator using Hex. E shown in External Dimensions on P.961 with the tightening torque shown in the specification
list on P.959. Insufficient or excessive tightening torque leads to malfunction.
9. Air bleeding is required as air mixed in the circuit causes malfunction.
10. At shipment, sequence pressure is not adjusted. Please adjust it by referring to the graph below. Install a pressure gauge on the circuit

to check pressure as necessary. After adjustment, tighten one or more set screw for anti-rotation. (Tightening torque:0.2N-m)

. BZS0100 BZS0200 BZS0300

gé::::\::::::\::::::::‘::::
M ERIEERNEEEERERNEREEREERANEE
L L N PN L N
F|SEIEEEE.\NEEEIRELVEEREREEELN
::::::\:::::::\:::::::\
§O;_Rl11111111111111111111

25 30 35 40 45 50
Dimension C on External Dimension List (mm)

(This graph is a reference, and the values will not be guaranteed.)

@ Action Description

Sequence

[
Actuator @ ‘ F:| !Valve

B F
L= |
Workpi

I @] Actuator ®

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

LLW

Linear Cylinder /
Compact Cylinder

LL

Block Cylinder

DBA/DBC
. Centering Vise
== Operating Procedure Note FVA
' Hydraulic pressure is ON. FVD
R . . FVC
( " The valve is closed Actuator @ is activated. —
i B . Control Val
l—m till the set pressure. . The difference between the operating
! Pressure increases to the sequence . BZL
‘L ‘ =y N — pressure and the sequence operation BZT
T £ i ure. v o
5 set pressure should be TMPa or more. _BZX)ZG
3 T
:@E lﬂ"—@ — | The sequence valve circuit opens.
Pallet Clamp
7 Actuator @ is activated. VST
_ Locking action is completed. Expansion
' Machining, etc. LocatingPin
VFL/VFM
The valve opens when o, | Hydraulic pressure s OFF. VEJ/VEK
[ the pressure is reached e
: ‘% | Theactuators @ and @ are The check valve in the sequence valve opens
i m | to the set pressure. z ®and @ q P pull Stud Clamp
[ q a R a e —
! Igl ‘ < | released almost simultaneously. when the incoming side pressure decreases. FP
4 [a=
L= Releasing action is completed. Fo
Customized
:@E |E-|_© Spring Cylinder
DWA/DWB

9618B



Manifold Block

model WHZ-MD
Model LZY'MD
Model LZ-MS
Model LZ-MP
Model TMZ'1 MB
Model TMZ-2MB
Model DZ-MGL]
Model DZ-MS[]

® Manifold Block

The mounting height of clamp is adjustable with the manifold block.

Manifold Block

Manifold Block

Fixture Base

1333



Manifold Block Manifold Block
((VK@SMEK

Applicable Model/Application Examples | Model No. Indication/External Dimensions Harmony in Innovation

High-Power
Series

Applicable Model

Pneumatic Series
Manifold Block Model No. Corresponding Item Model No.

Hydraulic Series

Model WCA Model WHA Valve / Coupler
Model W H Z - M D Hydraulic Unit

ModeIWCE Model WHE
Manual Operation
Accessories

Model LKA Model LKE Model LHC Model LHS .
Model LZY_ M D Cautions / Others
Model L KC Model L H A Model LH E Model L L

Screw
Model LJ Model LG roaer
Model LZ - M S m
Model LM Model LT Manual Expansion
Locating Pin
VX

Model LZ'M P Model LC Model TC

LZY-MD

Model TMZ'1MB ModeITMA'1
[ TMZ 1MB__
TMZ-ZMB

Model TMZ'ZMB ModeITMA'Z @

Manifold Block /

Nut
DZ-R
DZ-C
Model DZ'MGD/MSD ModeIDP Tozp
DZ-B
LZ-s
Application Examples e
WNZ-5Q
® Work Support (LC) Application Example s
TNZ-5Q
Manifold Block (LZ[J-MP Xthree pieces)
This drawing shows when Wsurface of one of three pieces is additionally machined by customer. Pressure Switch
JBA

Manifold Block (LZ[J-MP X one piece)

Pressure Gauge
JGA/JGB

LC Manifold
JX
Standard Mounting
Coupler Switch
PS

=
T \|/ G-Thread Fitting

\_Fixture Base

® Push Cylinder (DP) Application Example

DP-AL] DZ-MGO

Fixture Base

7

1334



Manifold Block model WHZ-MD/LZY-MD/LZ-MS/LZ-MP

©Manifold Block for WCA/WCE/WHA/WHE c 4¢R AZO
K 2
Model No. Indication
Size Design No. @ %
(Refer to (Revision Number)
following table) - 06 06 ~
v s —— S
Surface Z T K\( 2-O-ring
Eﬁ (Included)
) (mm)
Model No. WHZ0600-MD WHZ0320-MD WHZ0400-MD WHZ0500-MD WHZ0630-MD
Corresponding WCE0602 WCA0321 WCE1002 | WCA0401 WCE1602 | WCA0501 WCE2502 | WCA0631 WCE4002
Model No. WHE0600 WHA0320 WHE1000 | WHA0400 WHE1600 | WHA0500 WHE2500 | WHA0630 WHE4000
A 23 25 27 31 35
B 54 60 67 77 88.5
C 45 50 58 68 81
D 40 46 54 64 77
H 31.5 35 38 43 48
J 22.5 25 29 34 40.5
K 34 39 45 53 65
Nx 26 28 31 36 41
Ny 9 10 13 15 20
P 3 5 5 5 5
R 5.5 5.5 5.5 6.5 6.5
S 8 10 10 10 10
T 1.4 1.4 1.4 1.4 1.4
O-ring 1BP5 1BP7 1BP7 1BP7 1BP7
Weight kg 0.1 0.1 0.1 0.2 0.2
Notes: 1. Material:A2017BE-T4 Surface Finishing: Zircon Finishing (Zirconium Chemical Conversion Treatment)
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension A as a reference.
3. For other block thickness (dim. A), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary.
©Manifold Block for B 49K o
LKA/LKC/LKE/LHA/LHC/LHE/LHS/LL J 4
Model No. Indication
LZY 048 0 - MD )
Size Design No. < % 1
(Refer to (Revision Number)
following table) Ol w 06 06 o
: —l T
Surface Z T K\( 2-0O-ring
Em (Included)
) (mm)
Model No. LZY0360-MD LZY0400-MD LZY0480-MD | LZY0550-MD |LZY0650-MD |LZY0750-MD LZY0900-MD LZY1050-MD
) LKA0360 / LKE0360 | LKAO400 / LKC0400 | LKA0480 / LKC0480 | LKA0S50 / LKC0550 | LKA0650 / LKC0650 LKAQ750 LKA0900 LKA1050
Corresponding  |LHA0360 / LHC0360| LKEO400 / LHA0400 | LKEO480 / LHA480 | LKE0550 / LHA0550 |LHA0650 / LHC0650,  LHA0750 LHA0900 LHA1050
Model No. LHE0360 / LHS0360 | LHC0400 / LHE0400 | LHC0480 / LHE0480 | LHC0550 / LHE0550|  LHS0650 LHS0750 LHS0900 LHS1050
LL0360 LHS0400 / LLO400 | LHS0480/LL0480 | LHS0550 / LL0550 LLO650 LLO750 LL0900 LL1050
A 49 54 61 69 81 92 107 122
B 40 45 51 60 70 80 95 110
C 20 20 27 30 32 37 45 50
D 36 40 48 55 65 75 90 105
E 29 31.5 35.5 39 46 52 59.5 67
F 20 22.5 25.5 30 35 40 47.5 55
G 23.5 26 30 335 39.5 45 52.5 60
H 16 18 22 24 30 32 37 45
J 31.4 34 40 47 55 63 75 88
K 4.5 5.5 5.5 6.8 6.8 9 1 14
P 3 3 3 3 5 5 5 5
S 8 8 8 8 10 10 10 10
T 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7
Weight kg 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7
Notes: 1. Material :S45C Surface Finishing: Alkaline Blackening

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension C as a reference.

3. For other block thickness (dim. C), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary.
1335



Manifold Block Manifold Block
Applicable Model/Application Examples | Model No. Indication/External Dimensions ‘ {‘ l(H‘.’mcgnm,Eol"(
PS . High-Power
@Manifold Block for LJ/LM/LG/LT B 4-¢) col Series
Hy Q
© Pneumatic Series
Model No. Indication D f; o
L Z O 4 8 O _ M S / w . Hydraulic Series
> +
Size [ Designo. * | < 9 Vil /ey
(Refer to (Revision Number) A . C0.6 0.6 Hydraulic Unit
following table) & - Q} (] o
J jtn Accessories
L
M%LF oP Surfacez / T ‘ ‘\ O-ring Cautions / Others
Eg (Included)
el
(mm) Screw
Model No. LZ0300-MS | LZ0360-MS | LZ0400-MS | LZ0480-MS | LZ0550-MS | LZ0650-MS | LZ0750-MS | LZ0900-MS | LZ1050-MS  Locator
Corresponding | LG0301/LT0301 [LG036C1 / LT036(J|LGOA0C] / LTO40C1|LGO48L] / LT048(1|LGO55C) / LT055C1|LGO65C] / LT065(1|LGO7501 /LT0750))  LGO90L] LG1050] VXF/VXE
Model No. 10302/ LM0300 |LJ0362 / LM0360 |LJ0402 / LMO40O |LJ0482 / LM0480 |LJ0552 / LMO550 | LJ0652 / LMO650 |LJ0752 /LM0750 |  LJ0902 LJ1052 ]
A 48 515 56.5 62 70 82 93 107 122 o spnson
B 34 40 45 51 60 70 80 95 110 X
C 18 20 20 27 30 32 37 45 50
D 30 36 40 48 55 65 75 90 105
E 28.5 31.5 34 36.5 40 47 53 59.5 67
F 19.5 20 22.5 255 30 35 40 475 55 [ WHZ-MD
Hx 30 314 34 40 47 55 63 75 88
Hy 23 314 34 40 47 55 63 75 88
J 4.5 4.5 5.5 5.5 6.8 6.8 9 11 14
L 20.5 23.5 26 30 33.5 39.5 45 52.5 60 TIMZ-1MB
M 3 5 5 0 0 0 0 0 0 EVETTEE
p 3 3 3 3 3 5 5 5 5
5 8 8 8 8 8 10 10 10 10 bz
T 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 Manifold Block /
O-ring 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Nut
Weight kg 0.1 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7 DZ-R
Notes: 1. Material:545C Surface Finishing: Alkaline Blackening pz-C
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension C as a reference. pz-p
3. For other block thickness (dim. C), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary. pz-B
LZ-s
. C 4-¢R A LZ-5Q
@Manifold Block for LC/TC Kx “ R
TNZ-S
Model No. Indication >\T TNZ-5Q
< §o
L Z O 4 8 O — M P o® % T 7 i Pressure Switch
Size Design No. = C0.6 C0.6 JBA
(Refer to (Revision Number) .
following table) ”’7}*3;\ Pressure Gauge
JGA/JGB
SurfaceZ /' T'§ ‘ ‘\ 2-O-ring A
Em (Included) )
© Manifold
(mm) X
Model No. LZ0260-MP | LZ0300-MP | LZ0360-MP | LZ0400-MP LZ0480-MP | LZ0550-MP | LZ0650-MP| LZ0750-MP LZ0900-MP
Corresponding ModelNo. | 1. C0262 LC0302 LC0362 | LC0402/TC0402 | LC0482 /TCO482 | LCOS52/TC0552 | LCO652 /TCO652 | LCO752/TC0752|  LCO902
A 18 18 20 20 27 30 32 37 45 Coupler Switch
B 43 48 51.5 56.5 62 70 82 93 107 Ps
C 29 34 40 45 51 60 70 80 95
D 26 30 36 40 48 55 65 75 90 G-Thread Fitting
H 26.5 28.5 31.5 34 36.5 40 47 53 59.5
J 16.5 19.5 20 22.5 25.5 30 35 40 47.5
Kx 25 30 31.4 34 40 47 55 63 75
Ky 21 23 31.4 34 40 47 55 63 75
Nx 18.5 20.5 23.5 26 30 335 39.5 45 52.5
Ny 3 3 5 5 0 0 0 0 0
R 3.4 4.5 4.5 5.5 5.5 6.8 6.8 9 11
Yx 18.5 20.5 23.5 25 28 31 37 42.5 50
Yy 7 7 8 8 n 13 14 15 15
p 3 3 3 3 3 3 5 5 5
S 8 8 8 8 8 8 10 10 10
T 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4
O-ring 1BP5 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7
Weight kg 0.1 0.1 0.2 0.2 0.3 0.4 0.5 0.8 1.2

Notes :

1. Material : S45C

Surface Finishing: Alkaline Blackening

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension A as a reference.

3. For other block thickness (dim. A), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary.

1336



1377

Company Profile

Sales Offices

([ K@SMEK

Harmony in Innovation

Sales Offices across the World

JAPAN
HEAD OFFICE

Overseas Sales

TEL. +81-78-991-5162 FAX. +81-78-991-8787

KOSMEK LTD. 1-5, 2-chome, Murotani, Nishi-ku, Kobe-city, Hyogo, Japan 651-2241
T651-2241 EERMEHAEXER2T H1ESS

United States of America
SUBSIDIARY

KOSMEK (USA) LTD.

TEL. +1-630-620-7650

650 Springer Drive, Lombard, IL 60148 USA

FAX. +1-630-620-9015

MEXICO

REPRESENTATIVE OFFICE TEL. +52-442-161-2347

KOSMEK USA Mexico Office  Av.Santa Fe #103 int 59 Col. Santa Fe Juriquilla C.P. 76230 Queretaro, Qro Mexico
EUROPE

EUROPE TEL. +43-463-287587  FAX.+43-463-287587-20
KOSMEK EUROPE GmbH Schleppeplatz 2 9020 Klagenfurt am Wérthersee Austria

CHINA TEL. +86-21-54253000 FAX. +86-21-54253709
KOSMEK (CHINA) LTD. Room601, RIVERSIDE PYRAMID No.55, Lane21, Pusan Rd, Pudong Shanghai 200125, China
FHR(LB)HSERAR hE TR R A S B2 1 55 24RIZE TG0 2 200125

INDIA

BRANCH OFFICE

KOSMEK LTD - INDIA

TEL. +91-9880561695

F 203, Level-2, First Floor, Prestige Center Point, Cunningham Road, Bangalore -560052 India

THAILAND
REPRESENTATIVE OFFICE

KOSMEK Thailand Representation Office

TEL. +66-2-300-5132 FAX. +66-2-300-5133

67 Soi 58, RAMA 9 Rd., Suanluang, Suanluang, Bangkok 10250, Thailand

TAIWAN

(Taiwan Exclusive Distributor)

Full Life Trading Co., Ltd.

TEL. +886-2-82261860 FAX. +886-2-82261890

16F-4,No.2, Jian Ba Rd., Zhonghe District, New Taipei City Taiwan 23511

BEESERNE BBHALTRRER/\BE25% 16F-4 (RRHILER)

PHILIPPINES TEL. +63-2-310-7286 FAX. +63-2-310-7286

(Philippines Exclusive Distributor)

G.E.T. Inc, Phil. Victoria Wave Special Economic Zone Mt. Apo Building, Brgy. 186, North Caloocan City, Metro Manila, Philippines 1427
INDONESIA

(Indonesia Exclusive Distributor)

PT. Yamata Machinery

TEL. +62-21-29628607 FAX. +62-21-29628608

Delta Commercial Park |, JI. Kenari Raya B-08, Desa Jayamukti, Kec. Cikarang Pusat Kab. Bekasi 17530 Indonesia

Sales Offices in Japan

Head Office
Osaka Sales Office
Overseas Sales

TEL.078-991-5162

T651-2241

FAX.078-991-8787
OEREFAHAEREN2T B1ESS

Tokyo Sales Office

TEL. 048-652-8839 FAX. 048-652-8828

T331-0815 BEEEOEMHALXARET4T 58185

Nagoya Sales Office

TEL. 0566-74-8778 FAX. 0566-74-8808

T446-0076 BB HEREET2T 81051

Fukuoka Sales Office

TEL. 092-433-0424

T812-0006

FAX.092-433-0426
BEREMHESX EE2H1T E8-10-101




Global Network

® Overseas Affiliates and Sales Offices
@® Distributors

rgestfocccccocoogos - 3 Canada
(] E ‘... E US.A. ©®
] o :
1O . e@® gy
'Y » ® : Mexico
' ® i
' ) '
® Brazil
(]
Australia
Asia Detailed Map
[ J
o
¢ Korea
o { ]
Japan
° China ®e®
[ J
. e ¢ ® Taiwan
India
. -
Thailand o Philippines
[ J 00
Malaysia
® Singapore
o
Indonesia
‘ { Harmony in Innovation
@ FOR FURTHER INFORMATION ON UNLISTED SPECIFICATIONS AND SIZES, PLEASE CALL US. JOA-QMA10823

@ SPECIFICATIONS IN THIS CATALOG ARE SUBJECT TO CHANGE WITHOUT NOTICE. KOSMEK HEAD OFCE

:

‘-E

AB
CMO009



	Hydraulic Link Clamp
	Hydraulic Link Clamp Lineup

	LKA_INDEX

	Cross Section
	Model No. Indication
	Specifications
	Clamping Force Curve (Standard)

	Clamping Force Curve (LKA-D/M/N)

	Allowable Offset Graph：Standard

	Allowable Offset Graph：High Strength Link Plate

	External Dimensions (Standard)

	External Dimensions (LKA-D)

	External Dimensions (LKA-M)

	External Dimensions (LKA-N)

	External Dimensions (LKA-A)

	Air Sensing Option
	Lever Design Dimensions
	Accessory：Link Lever

	Accessory：Tightening Kit for Quick Change Lever Option A

	Cautions
	Accessory：Control Valve 
	Accessory：Manifold Block

	Company Profile (Sales Offices)




